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1) mnpn
a) Nipon of Xar 12 172 27 0n WIPnH VA

RAR 72 790 277 RIPOAD WIPR W D PINR — 'R N

[2°192 20377 737 11723 7A32] NN AN 093
A | 7Y nyAw 12 121X X 93
e nn | 7w anm 12 i e nn
PR | v N3 1 PR 1NN
11793 7310] 71793 7313]
mouny uny
anon anon
[2>102 [2192

[2°192 20377 787 11923 7210] MAPNMD TuR? P93

2) mooin
a) Nwp

i)  We ought to be wwin as in "2 7x that the avw: Sv2 will erase the entire an>
o°192 — and in the Y nRn 1193 above the minnn of the o°7v the qvw: Sva will be
*¥27 °Rn am> and make it appear that this is a vyws vx where o°7¥ signed as
usual below the an>

'3 9N

IRINT MWK DITOYR WMR TR W TIWD A 2N WK 22T PIT

121 man PRy mbn
RN | Y nvnw 12 12X T30 9
e nn | Ty anm 12 i nnn
PR | v SN0l 1 [PYY 1PNR2
11993 T310] 1193 7310]
moyny hielepd
anon anon
[0°192 [ o°192

[2°192 205 7¥M P23 TAI2] NN DVNMA TUA? 11993

b) y»n

i) vnxn of the 7%p of a wIpn Vi is MY that’s 77179 715° — and a W that’s
7771777 912 isn’t valid

c) Nwp



i) The X7ma says in m21n> noon that »7° N nn ™k a person signs his name on
xoon — and there’s no concern that another person will be *¥27 *x» an1> above
the first person’s nm°ni — because 17 n°2 recognizes that &osom is 77172 912
and won’t accept a “vw written on Xson

ii) it must be that 1w is 7p>71% 9120 19K because otherwise 17° 203 *INKR? a person
ought to be able to sign his name on mnw the same as on &son

3) nn7pn to the qwnn of mdoIn

a) wpn va for the x1pon of X1 27 as in '3 7% where the 2n> on each line 02192 is
followed by a “wp on which there is a Y2 7v n»nn

R 377 RIpon® qwnpn v — "3
[7n21 27392 77vn 1179a]
[2°193] 'R AW and
X9 | [yna] T NvRw 12 1R 0°191 T2 1193
72 2°192 [o°193] '2 77w 202 i
[P2] 79 M 12 10
[o7193] '3 77w 2nd
[P2] 79 M 120
YN 2°192 Rk 9

b) xwp

i) We ought to be wwin that the quwn Hva will open the owp and erase the an>
o°1m3 and

(1) either as in "7 91°x¢ be PR *¥27 R 201D in the 193 above the nnenn as in
a standard vw» wva that’s not necessarily written in 17 20> of the 2nnn
(321%7) but is anma by at least two outside o7y

T anR
"2 2927 Pt

[yna] 79 Pynw 12 1211

[yina] 79 o 120

(2) or as in ' 7% be 1on the 77w that contains the 2°nn of 12387 and be an1>
*y27 >R in the 11°%3 that’s 737 17 to the right of the ma°nn of 12181 — and the
Tuwn Hva will be apwn and say that the “vw was ana1 as a vw»s va by the
7 2n> of 123%1 and therefore validly binds 12187 even though the auw was
anm only by 123%1 and not by o°7v

7%
2Py 12 1R PR I 270 R
"Pwnw

4) R"wan
a) Xwp
i) The nrwp of mooIn to Xar 12 "»7° 271 and to X1 27 are essentially the same

i) Why does mooin ask its x°wp first to Xax 92 "»7° 27 and only then to &1 27 to
make it appear that the nvwip apply more readily to Xax 92 “»n7 29



b) y»n

i) for xax 92 “»7 21 the 11993 that’s generally available 0°192 757 1% is opposite
the 11°%3 that Y nxn is 2°7y M nnn %917 as in 2 7vx — because of the
orientation of this yIn2 112 the quwn Sva can be >ya7 >xn am> (Y191 0°127 1121)
on this yna 1% for the full length of »nx» from right to left

i) While for &11:7 27 in the ynxn 737 1 11°%3 — because of the orientation of this
9aas in ' 9% — there is only a brief space before the nnonn of "21%" in
which the quwn 9ya can be 2n1> only a brief statement (73 "% 2717 %1R)
supposedly in the 7> an> of 12%1

"TNOI TN "A 27N WWippn VA A" T NIYOIN

SR 21057 "2 2TV P2 KLV KON TAR TID 12 97707 1PIAR Dw 7o) 7''N2
DD 1D WD RDON 'Y 11D TAID TR IR IR J0A2 2RI N

[I'V "X DAL T'NA A 270 Awipn va YT NIvoIn

B9 oY "D MWK IR 9T OR D''RT 1D 170 2n02 2w WpR AR PR an 7''N2
R WAL 2T R MR oM7L 21937 1''RT MI2INDT TR RN R RN
25'"PY 179 NN WIPR RIIAT OD TOAY T 2WR

1) mnTpa

a) We established in & por that it must be that nw is 5>713% 215° because otherwise
a person ought to be able to be 17> an> 12 on MW

2) Twnn of maoin as explained by X"wann
a) YR

i) Does a “wpn "w bind a person if he writes o°192 17> anoa that %% 277 """
"1 and is anmn on the yna nw

ii) If so there’s no “&2 from mand noon that Mnw is 7713 215° 1R because it’s
possible that 7>>71:7% 9127 but still a person shouldn’t be M w2 17> an3 "N
because another person might be 0°192 >va7 *&»n 2m> and claim that the 12°n>
was the 7> an> of the person who signed on the ~nw

VIV 2" TN
25"3: YD T Y2 200 ' N’?N 1715511 29 "0 NI A o oM " wwd ''a
Wipgn a"'Tn

1> HRYDRAA 12 R0 ' 99275 10 WD PITIW IND NI 2RI 10 answ wnpn 7'
M7 12 "Nann Y 929 R 707 KD 11D 7792 fIOT IR 1D DRYDRA 32 K107 B an
5RD "19 KD 1IN WP M2 TRWYS 1D TR JI5W LW 2105w 10 KDY IING
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017 971
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1)

2)

3)

1B DI W'D PR RTY WD
iy (Pl
a) mwn — The o7y for a awpn va sign "vanRn"
b) 71w of Xar 12 “n7° 27 0n the NP nm in a WwIpn VX — "PITAR 237 72191 237 IR

c) 1> of X171 27 on the Ny nm in a awpn va — "WwPL Wwp Pa" —and in the X1PR M0
the X3 assumes that the minenn are written X — meaning 0°192 — as in 'k Iy

'R X
[2°192] 'R 77w 20D
[2°192] 7v YA 12 12K
[2°192] "2 imw 2nd
[0093] 73 A 12 Y
[o°193] '3 71w and
[2°392 79 119121 12 DY

hqlab)
a) Nwp to Xax 12 "n7 20

i) Once the mawn says ansi *nRn what does Xax 72 "»7° 27 add with the word
alg=!

b) y1nas explained by R"wann

i) Any n»nn that’s not in its usual place counts as "2an27 > NnR" or "R — it
follows that from the mawn alone we might myva think that the mn ni are %192
but are in an unusual place relative to the 2n> — specifically before the an>
instead of after the an>

i) That’s why X2& 92 17> 27 needs to say yian to make clear that ansi7 *2 K and
PInRA actually mean “in back”

X117 272 17"7n as explained by X"wAmn in his X093 (see 't 737 17 1Y)

a) Nwp to the X1 & M7 of X1 27 that the an> and mnenn are both *Xwn — how does
this fit with the 71w that says "vanxn"

b) v n

i) Similarly to what m»oin said for Xax 12 "7 27 — although o*7v are *Rwn Pnnin
the mawn still refers to the nwa nn as being 1"nxn to teach that — in the 1w of
mooIn — "PRNNY FYw MR amn Tva PRY" — namely the o>y aren’t ann in the
usual place after the an>



4) X"wan

a) Note that although an>:7 >k and 17087 can each mean “in an unusual place” —
the word "anX" (in bold) that m»on uses in its y17°n for X7 27 has its ordinary
meaning of “after”

yTI' "nT "Nal XA 217 2"

R 19TIIRR PIVWS DI0ODW WD BRI 12 77T WO TN 77 10 RN axy 7' 72

H''es H'"oy "o

'R D' oY "D IR WNIPRIT YTV T KDY WIPRTY LIWET ann ' pTe T 7R
W''AD 2TPIA NI WIPR IRRDR DI T IND DITDT 1NIARD VIV LIWDT ayw o'y

1)

2)

3)

4)

5)

6)

J5'"mY @IS PN WY RPW "DINT 12N0w RAYY TR KPR 9w 'inn
First 7n7pn

a) 77 at :7op 77 was Txan for 21 that every awipn va is dated amrn — namely a va
wpn that’s signed in year 1 is dated year 2

Second 727pn

a) A o7 va that’s dated 'R 73w and wasn’t an21 until 'a 7w is 7109
Third nnTpi

a) Inawvwo vathe ov7v sign o212 — if they sign yina the v is %109
b) Ina“wpn vx the o7y sign yina

mooIn

a) There are two reasons why a vw» v is 709 if it’s signed yna
b) First reason:

i) Otherwise quwn Yva could take a vyw» v that was correctly signed in year 2
and is effective in year 2 —and turn it into what appears to be a “wp» va that’s
properly signed yna by adding o> wp — and the qvwn v2 could then be apwn
and claim based on the anxn» of 1111 that as a “wipn va the nvw (although dated
year 2) was actually ano1 in year 1 and is effective in year 1 — when in truth
the quw wasn’t signed until year 2 and to make it effective in year 1 makes it
a7pm and 9109

c) Second reason mentioned by maown in vws "7 on 'K TNV
i)  Awvwd v is Moo if signed yina because the o*7v didn’t sign o°mom PN
moaon
a) °21 at first didn’t know the 7 of Par
R"Wn

a) Until »a1 learned the 17 of 1171 he couldn’t have relied on the first reason to
explain why vws va is 2109 if it’s signed yIn2 — and he must have thought the 7100
was based only on the second reason

10



.NOJ? T
win'™71 n"1n

"D RART MR TN 79 WIWNAT M R 15 RADT 2R 7''T7a [N TRy XOp 7]
722 RNMWNT V10N 2R 23 WMWY IO KDY 12 2IND W TR NPT MR IR D'y
QITY NN NTR DT 20TV Q1P POIT YIDR ¥LUD 1TD 1O RO 110 RPOOD 2TV
PODIAT INMD NI MWW N0 TV 2ITYT TI UMD WBRY NIDDINT 12NDW 9D

TR YR Tunn QYT NN

1) First nnTpn

a) Inavw»s vathe o>7v are o°192 omn below the an> —and 7"2 write their XnwK
below the o>7v n»nn

2) Second nnTpi
a) The xnk 77 of XaK 92 ™19 27 0N WIPn VX

MWIPR MWW — 'R WX
23 R 277 RIBN T
NaN

— 93 'R 7MW and
P2 17230 7Y NN

— 193 '3 7w and
P 17310 7Y N

— o923 7w ana
YIM3 17310 7Y N
PIM2 P2 22192 2 A

3) Xmx—nrwip to the xrax M of Xak 92 n7 21
a) First xowp

i) Since the o>y don’t sign 0°192 under the 2n> the qvw: Yva can add *va7 °xkn» at
the end of the o192 2n>

b) v

i) 7"2 will recognize this 711 because the additional o°192 an> will extend past
the last yna ononn

c) Second xwp

i) The 7uwn %va can add another 7m°ni at the bottom yin2 — and can be °&» a3
>y27 in the space o192 that corresponds to the newly added yna nnonm

4) moon
a) Xwp

i) inanswer to the first x°wp why doesn’t the X3 answer that 177 v»vn — the m?
marks the auw from the end of the o192 an> to the bottom of the “vw

b) v n

i) Although in a awpn v the o7y sign yna and in most cases 7"2 will sign the
Xnwx below the mnnn

11



i) Still it’s possible that — consistent with practice for a vw» v —a 17 n°a might
want to sign the xnwx under the 0°192 2n>

iii) and to leave room for this xnawx the quwn %2 can’t be v»vn this space 02192

5) X"wann

a)

b)

d)

Xowp

i) moown should have asked also that in answer to the second x*wp the & nx could
have said that the 7% is v»vn the »nR2 vw from the end of the o7y nn°nn to
the bottom of the avw and it would follow that the qvws 5va can’t add more
PInRA Mo and as a result won’t be able to add 0°192 *va7 *8n

7N

1) Moo recognized from the start that it’s likely that a 7"2 would want to write
their 1" nRn XxnwR and that as a result the space below the o>7v nwa ni needs
to be kept unmarked

i) The wyn of mooin is that a particular 7"2 might decide to write the Xnwx
0°192 so that the space o192 also needs to be left unmarked

WP

i)  Why then does mooin at “wpn 11"7 on .op 77 say that in a awpn va we’re in
fact yana v»un in the space opposite the 11°2a that follows the 02192 an>

71N

i) moown at .op deals with the xipon of Xax 12 “»n7° 21 that 07y sign a awpn va as
described in "a 7% — in this case a nx» v1rY in the 11993 to the right of the
nyonn in the space opposite the end of the 02192 an> will leaves space
for xnawx on the 11°23 below the mnonn

N3N 93 170 297 RIpORD TRIPR TR B 1PIIARD v — '3
[£°192 20577 73 7793 7313] Nvcnn TRt rha

XA | Y nyAw 12 TR | e v
nnn | 7 anT 12 k) anon
PR |y Hno1 =) sl jakaiom)

1993 T2 [won]

Toynb
anon
jajat}

RNMR 2WR— NN 7077 7023

i) While m»oin here deals with the x1»x M7 of XaX 92 *»7° 27 in '% 7% where a
1PRA V1Y that’s opposite the 02192 20> would mark the space below the
nysnn and would make that space unavailable for xnwx below the mn»nn

winl 2" TN ‘X 770 winai X110

W 2INMY WY KT AR 2NN TAR TV AN 0D 1D 2N R ATRY "D wmn a''a
RN 22D By 17V 2N YW IR TR 77N 90 2029 MR 27N N2 KOw "D oD
"WaT OR7% 2%D2 2INDM DMMWNTT QITVT TAI MWW 702 2TV 2N PR H''7
2TV 3T TN TV RO 70O D02 571977 KPR IRIN RN PITAR NI0RW 2077 TR
WD RDT DI0D RAT M7 AW TV TV TV B2 TAI OI0ONTNY 23000 790 aNY ;T Ann T

12



R? 297U 1370 T ST AN T2 207V 'R 7Y BN TN TV R''D U D52 1R2 KON
W'RDY 70 N0 'R TY Don Y ROW 21 1Y KD MWW M0 TV J0NT W
27 1''RT aNPWIP POrA RIPOPR Y RWP KRR ORD RIVT KD DaR Db o"s 'oinn
PTYY RAT R2T MWW WYY ROW WRT NI0 TV XLV MIWPY PN N 70 29200

PTY 9IY 'oInn w''ns nnR Tuwa

1) X
a) Xwp to Rax 12 "7 20

i)  We ought to be w>n that the qvw:i Hva might be ™ the nannn qvw of the an>
0°192 and thereby remove a °xin that favors the m?

b) yn

i) That’s in fact why for Xax 12 "7 27 the 0>7 Sign VW Hw 137D 751% aunn
—s0 that if qvw:s Hva is 1on the o002 nnnnn awvw he would thereby also be 101
at least part of the nn°nn of 32187 and 7"2 would recognize the 711

2) anTpn to mooin — at first mooin assumed that for Xax 22 19 27 the 07w are omin in
one row one after the other from right to left as in 'k 1°x
'R M

0192 2N2 TXM PRI NN 72YR2 170
namm 7 PvnY

T30 11093
N nn

IRy [ T b

nmnnn

7y 2Py

7y 2PV

7y 2P

hinlish)

byl

anon
0°191

liahistal
fpielap)|
anon
0°192

0°192 2N 7Y™ MR MDD 70n? 17’51

3) mooin as explained by x"wann
a) Nwp

i) There is no upper limit on how many o°7v can sign a “vw — so the ww: Hva
might add another 7v (7v 2p¥° 12 77i7°) who starts signing yna in the right 119
opposite the 112 that’s on bottom o192

7V 2Py’ 129 79 2pY° 12 PYAY 79 2pY° 12 12K 7v 2P 12 AT

ii) And this will allow the quwn 52 to write another line of 2n> on bottom o192
without 7"2 noticing the a1
b) First y1°n

i) Although there is no upper limit on how many o°7¥ sign a qvw they do need to
sign on separate 1w one below the other — and in fact for Xax 12 *»»7° 21 they
sign as in '2 7°x¢ and not as in 'R Ty

2%
v Py 12 121X
v Py 12 nynw
v Ry 12 o

i) And it’s a muws that the qvw will be S0 if the “vwi Hva attempts to be 2n1
0°192 °v27 °Rn by adding three o>7v in the %3 as in '3y
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PERib
1l Py 12 1R TV 2Py 12 WY
1l apy 12 NnvAY 7V 2P 12 AT
Il Py 12 v R

c) Second y1n as explained by R"wann
iii) The 1121 to the right of the min°ni must anyway be v won as in '7 11y

(1) because otherwise as in "7 71°% the quwn Yv2 might be 1n the 7w that
contains the 7»°nn of 12187 and be *v27 *Ra an1> in the 193 that’s 787 12 to
the right of the »°nn of 123%7 — and the “vwn %va could then be apwn and
say that the qvw was 2n21 as a vWw»s va by the 7> an> of 12187 and was onm
by 12187 and therefore validly binds 12183 even though the avw wasn’t onma
by o>7v — compare this with what m»on says at awp»n 17"7 on .op 77

7%
TV Py 12 12X 0-1->-1
TV Py 12 Nynw 0-1->-1
v Py 12 i 0-1-3-0
7%
2PY° 12 7RI NN 717 27 12RO
95

4) Twnn of R"waan
a) Nwp

1)  When mpoin assumed that 2>7v sign in one long row as in '} 71X it was also
necessary that there be a v1v to the right of the mn°nn because otherwise the
Tuws Hva as in 1 7% could be prmn the o192 an> and be 131 one line of the
nnm into a strip and be >ya7 °Ria an1> in the 123 at the right of the strip — the
result would be a standard avw that’s naR 7w w2 791 Ryt and is wd

" Y
A1} 7Y Py 12 Y TV APV 12 AR NI 7R IR
{2197 2n3 YW oY "uwn Hvak am 20n

D'WIVD X7T T'NAI [AIXY AT 2" Th "2 P7n wiInnl X210

WD 797 KD ARW 19 197IRD X7 T2 J2INTY 2P WADKWS "D J2I8" 2an27 7'
Ao RPIT 2''290 PR NP wNR1 aRR 27912TR D RN R oY "0 hyn® ja2 902
INT QY WA INNNNT L I RAWITT RIT 772 2pYN 121802 [21972 Y]
VRS 2PYN PYRD 122 DaR WD N 'R UM 2pyY 12 R IRWN 1NN 32 2
RNWTT [21972 1999] 2pP° 12 7019 1218 79RY 2029 130 WS 17 KD PUw a2
2PYN ToYRY J2 KON 'R U apy J2 IRWY KD 1NN 12 2P TeUnbw INT AT
INPRIP MDA 2''297 DR BBHYIY PRI MIPY 771200 TP — 9572 WD IR Tunb
2PY° 722 17'"777 RDN TOURY 0 DR 157IRY K17 772 2P0 12IRW A" 702 RPIT UPaT
2PYN YRS J2 INWO VALY 12 2V INT IR0 AR LW Bw 197N unb X7 T2
PWH2 ROR 772 23 WD PRI 2129 DNMWIPA T2 23 DIDY IR WD RYT Tunb
AT IR [01572 POY] 170 RYRDR 1218 DO 71D BITH TURbw 12 NRITOW ROR R''20m
7R 2PN J2INNT 2''290 WD BRI [91972 1P| 771D J2IRN D 32 nnn un dw A

14



IN [2I272 I9] 1770 TRYARR J2INT DD TAID DITH TURDW 2 70 LW TIIND RA7
ROWR UN557 OR% RIpTY KD 3192 [01972 17¥] 57170 12180 DR 12 TAI R Bw 2 uw
127 90U YRR 7297RT 12 2Py 2RI 121X RN 12 9N 2n0w 2''av e Pwba
TRINTT NPT YRR TAPDT K120 POR I VT TIIRD RIT T2 URAD 2Py
12 ININD PR BRI IXINND 2ANDW 7TAN WY DWW 10N EYRY KT T2 2pyN
ININRD 2PAAY WIDRY BRI VRST TIIND TWRD RIT T2 2P 122 MR IR "D unbw

2T oY DR 2

N1 77792 327 J2IR7 KPR 12 PRI W/ MI9IWR D W0 IWINW 293D X9 7''Na
WONMAY 2P 23 JAINT AW DWW 12 IR "D RWT RO KDWY TY 2pYY RDN INRS
T RN 77T 92 IRTD TN ORY J2INT 2R Bw 32 nnn 32 1R J2I80 9O 7AID 32 KON 92
23 J2INT B INT® "1 AR J2IXT 2w PW J2 nnn 32 "2 R RN 32 MR apym

THTRD 1D 72 INWY JAINT B J90YT "D Tunbe 12

1) Return to the 711 Xopw discussed earlier
a) Nwp

i)  We ought to be w>n that the qvw: Hva might be ™ the ninnn qvw of the an>
0°192 and thereby remove a >xin that favors the m%

b) v n

i) That’s in fact why for Xax 12 "»7° 27 the 0>7v Sign 0w W 1277 77917 qunn
— 50 that if qvwn Sv1a is 1on the 02192 nnnnn 7v*w he’d thereby also be 1on at
least part of the nn>nn of 32187 and 7"2 would recognize the a7

2) Twnn of the X ma
a) Nwp

i) since an 7y writes his full name — for example 2p3° 12 12387 — what’s cut off
might be only "7218"

i) and 7"2 might not notice the n1°1 because 7"2 might think that the 7v signed as
2Py’ 12 and there was no

b) v n

1) "MPY 7Y 2Py K17 702 32 1280 P2 2noT7" — where " 19w means opposite the
0°192 7MW that’s one 7w above the 0°192 ANR "YW

3) mooin — x0a of the Y170 of the X na
a) 7w of mpoin —

2w 12IRY TV 2PY° 72 MR KIT TA2 T ANIR T0OWA 12 128D 2007
il

b) Meaning as in the following 1% that 32 12187 is written »1nx» opposite and at a
right angle to the annx 7w of the o192 2n2 and 7v 2py» is written »179°y meaning
1INRA opposite and at a right angle to the 7w of the o°192 an> that’s directly
above nnank a7 w of the o192 an>
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W aPY L TN
NDYT VW PON TAD] | ANNAN AW phn 10
[o792 | [o02

1) The dashed line between "12 123%7" and "7v 2py°" shows where these two sets
of words would be separated if quwn 52 is 1on the annx nww of the 02192 2n>

ii) It follows that if the quw: Hva is on the 02192 7K "YW he’d be on the
words "12 123%7" yna and 7 n°2 will notice the 71 because the name of the v
was 12181 and not 2py [the & na late asks that maybe 72 will be 73w to think
that the 73 was actually named 2py°]

4) nnTpato the qwnin of mson

a) M»doIN Now considers various 02193 in which parts of "7y 2py» 12 12187" are written
in the yana mw that are opposite the o°192 717nR "vw and the 7w w that’s "Ny —
as well as o103 in which parts of "7y 2py° 12 72187" are written in the top of the
vIna mw ("7%yno") or in the bottom of the yna mw ("vnb")

5) Twna of moown — xwp of 0"
a) 1> of the xwp of o"am

DW IR TV ANNR T0WH 10X NN I 2P 2RI 1IN WRI2 12 0K
2PV 12 RW™ 1NN DWW 12 oYY 12D

6) 1"a7in mooIn
a) "0 of the mww of "2
i) "0 w02 32" refers to 'R 19 below where 7 2py° 12 is 75vn°

79977 TV 2PV 12— 'R PR
200w | RIw
VAP R WD [T2yn?]
1 [mon?]

ii) 0"2°1 asks that 7 n°2 in this 19 wouldn’t recognize 1°13 by the qow:n Hva —
because the words 7¥ 2py° 12 would remain and would appear to 77 n°2to be a
good nnnn

iii) "2 doesn’t ask his X*wp where there is no j21%7 wX12 32 as in '2 1w (Where
7V 2Py IS Tun?) — because after i — there would remain 75vn% 12 and 2py»
mun? 7y —and 7 n°2 would recognize the 13 because the mnenm isn’t 77°w>

70?7V 2Py — "1 1PN
12w
AR

b) x>0 by 7"

i) This 72 isn’t correct because the words 77y1% 12 and nun? 7v 2py° that
remain in '2 1 after i are in fact 2w> as a nnonn — it follows that 7 02
won’t recognize the 711

7) Twnn of maoin — k"M

a) R"2» agrees with 17"a7 that 7"2 won’t recognize the 717 in "2 1918 — as a result
where 7v 2py° is un? we direct the 1910 to make a »1°w to 'a 1 by arranging the
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Tnenm as in '3 19K so that if the uwn Hva is 1on the “vw the word 12 would appear
twice before 2py> and 17 n°2 would recognize the mrm

o0k TV 2Py — '3 PR
RS
7V 2pY° 12

b) xwp of pin knw
i)  We ought to be wwin that the uws Hva will be prn the 12 that’s 7un? in '3 1R
8) X"wann
a) Nwp

i) it would be more 12non for 82> to ask that the quwn Sva might be prn the 12
that’s mThyn®

ii) in fact for x"2» to ask that the “vwn ya might be prn the 12 that’s s
would have been more 12non if 8"2>7 had dealt with 75vn 7v 2py as in '7 198

Tovnh 7V 2Py — "7 1PIR
VAPV R WD
72

9) Twnn of MooIN — two o°¥1°n
a) First y1n
i) '3 19is correct because 17 n>2 will in fact notice the prn
b) Second y1n
i) '3 19 isn’t correct because 17 N°2 won’t notice the prn

ii) Instead we direct the 1910 to make a "12°w to '2 19 by making make the 7 nn
appear as in ' 198 — so that if the avwn Sva is prmn the 'y there will be an
obvious empty space below ja and to the right of v 2py> and 7 n*2 will
recognize the 1rm

0% 7Y 2Py — 77 1PIR
12 W0

Wy § i -2

10) "1 as explained by X"wAn

a) To answer the x*wp of 0"2°1 (who essentially asks his xwp for '} 193% where 12"
"2 wR12 and 7Y 2py° is 79¥nY) it’s necessary to say that there’s no wwn of 7
because similar to x"2>1 (except that &"2> deals with where 7v 2py> is 7vn?) we
direct the 7910 to make

i) either the »www in 3 19 (but with 751 7v 2py) to result in the following 2%

mepnb 7Y 2Py
AW 12 W)
12

ii) or the »1>w in ' 19 (but with 75yn% 7v 2py°) to result in the following 71
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Toynd Ty 2Py
WY 1A W)

7 -2

11) qwnn of X"wAan

1) We’ve established that m»oin holds that "2 deals with '} 1918 where 7v 2py»
is 7oyn? and X" deals with "2 19 where 7v 2pw is un>

b) xwp

i) from the words of 0"2>1 that "721%7 w12 12" it’s ynwn that only 12187 is 79917
and 7v 2py° is munb

ii) and we’ve established that for X"2°7 who asks 7un 5w 127 1pnn> Raw it’s yawn
that 7v 2pv is aPyn>

TV APy WWONNI 2" TN A 770 Winni Xa1o

7Y RIT INRWIR 2P 1D A0 7Y 7T AN KD apyow "D Ty apya awanm 7'
T2 B B BMop "o BB URT PMIT T 2pYY DR N2 JRINTD N7 IRoR
RDY 2onn KD apyon K77 12 1218 TINAD 120 72 2R anm KD apyow ¥ mBnenT
PWLIA 2T RAUTIRT AR N2 JRINT V'Y ROKR YANT KD RATR 1D 2pye "'y avpne
WA 2PN VDY AN 2pY0 TY apYOT RINT RURIPT RPIRT D anaT M0 N
ST9TY J2INT DR N2 TR N7 2pYS R RVRAPY NI DRSO RO N9 ORY 1ApY '0InT
R 7271 J2INT N7 RV 2P0 12 JAIRT ONT WMDY TV 2PYS I2 1IN 7TONNN 2NN

t2'N7Y 10 91T 'IRT PIMIT I 2pYOa DR WONMY TV AP P IR

1) Twnn of the X
a) X°wp to the xipon of Rar 12 "7 27 that a wpn va is signed yina 77vnY Tunon

i) A nvwsa ya might be 1on the nanx qvw of the o°192 2no and thereby be 1
vIna only "2 723%2" leaving 7v 2py* — 17 n°a might not notice the a1 because
it’s possible that an 7v named 2py> actually signed as "7y apy>"

2) moon as explained by x"wann
a) Nwp

i) The avwn %ya won’t benefit by being 3 the words 32 12187 because 7"a would
never be o»pn this "vw — after all 7v 2py> was written by 321%7 — not by his
father 2py> — and when 7"2 compares this signature with the signature of the
real 2py> the handwritings won’t match

2) mwn in PuRa noon

a) Where two v are written side by side — one on the right side and the other on
the left side — and 32 32381 is written on the right side and 7v 2py° is written on the
left side

b) the vx on the right is "w> because 2187 properly signed his own name while the v
on the left is :109 because 12181 didn’t sign his own name on the left — namely we
assume that 321% signed 32 32187 on the right and 7v 2py° on the left
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3) xaain P as explained by msoin
a) Nwp

1) Maybe 2py> himself actually signed "7v 2py>" on the left and j23%7 the son of
2py° then signed "32 123%7" on the right — so that j21%1 properly signed the right
vx and 2py° properly signed the left va — and both should be =w>

4) X"wan

b) Why is it that the x7n3 in 1v°a considers that 2Py might have signed his real name
but m»oIN in our &0 asks that 2py> couldn’t have signed his name

c) 1IN

i) Mmoo in our X0 explains that qww: Hva wouldn’t make a arma that would
result in an apparent 7»°ni by 7v 2py° that couldn’t be o”pn

ii) In v the xma asks that orp might prove that a 2py> actually signed the left
A

3) Twni of moon as explained by R"wann
a) Possible y1n
i) the x7mx here asks that we ought to be wwn that

(1) the vw was actually signed by 12187 72 2py> — and he signed as 72 j21R1
2py° in the style of n°111° where his words mean “he whose son is J2187 —
namely 2py°

(2) So that qvw: %2 can be mon the annR v w that contains a °Xin that’s
12112 without being 01 the quw even though he’d at the same time be
121 the words 32 712381 — because the avw will be o by the signature of
apye since in fact it was signed by apy»

b) xo7%o

i) This is a pm7 because if the wwr is based on a possible n>11* an°nn the X na
would have mentioned it

:NOp 7T
ITN] TN NIDOIN

T2INT2 N7 WONYH 112 2INTPI AWK 2TV AR 12 T 7R [2 TRy Rop 07]
TOMDY TIART 1D RIN2TR TV 2PYN 1D TV 2T 32 RIPI PWRIT Y 11D 2P N I
DR H'"OY "D JINT 7Y APYR NRMI R"TT "D

and X771 "1 T P70 winai X0

NOOTAT 25T9M2TR PIPTY WO oY 10 IR TV 91190 WON J2 110w 1o ans K97 1''7a
WMDY TOIDTD SO0 TR RAW ORI J22 TR RIT 7Y ONDD WOKR 22 wonST w19 NN
119957 91990 ROR 122 JIR0NT D117 220 Y 7Y 2pYI2 WHNRY 12 J2IND 1IN KR
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12 72IR72 25792 D''RT 'R DaAR 1APR 'O 'AD PARN uRd T 1hDY eynb ja
WY IR0 RAW 702 TR RDT 1NAN TV 20U T90RY 32 J2IRD WDNR N1 7Y apy
FINTI TR J2INT AN RAYT 2PYIT 907 202 PITD TV 2Py 32 12IRN2T B''oT awh
290 19TV PRT ROV WIDW IAPD NIDOINT SM2TR MO I9) 20T 2N YORD
ans KDY 12 2pyS 1AM 12 PR 1D J2IRD 2R D 9D AN Tuhwa
V' DI0D A''TTaT AWM MM TV APYY 1AM "1 12 12INN 2N DY MwwDa

R'TY R Ao 790 won 3 anaT TN Pan uanow

1) First nnTpn
a) Return to the xwp of the X723 to the Ripon of X2k 12 "n7 29

i) A nvws Sya might be 1on the nnanx qwvw of the 00192 2n> and thereby be 1
vIna only "2 72%7" leaving 7v 2py* — 17 n°a might not notice the a1 because
it’s possible that an 73 named 2py° actually signed as "7v 2py"

2) Second nnTpn

a) Mmooin assumes that "7y 2py° 12" is a proper [0 in a WPy va and there is no wwn
of ar1 by the qvwn Sva

3) X"wann
a) Nwp

i) Similar to the x*wp of the & na for a mn>nn of "7y 2py° 12 1218" — we ought to
be wwn that the avwn ya would be 1on only "2" and the words 7v 2py» that
remain would be a 77°w> m°ni so that 17 n°a might not notice the

b) v n
i) mMooin means that there’d be no wwn if 7v 2Py 12 is written this way

1
7y 2Py

ii) Because in this format if the quw: Hva is mon the word 12 he’d also be mn part
of the word 2p¥> and 17 n°2 would be 501 the vw because there’d be no
remaining 7°wa an°nn

c) wwp

i) Then why does the X3 ask its ®>wp for 7v 2py° 12 72187 — say that ina v
wipn the mnnn are set out in the following similar format — here too if the
avwn 91 is 1on any part of the word 32387 he’d also be 1n a part of 2py° and
the 1 would be 15

12 720
7y 2Py

d) yrn
i) This sort of ma 0 is 9109 because it appears as if it were written by two o7y
4) n7pnto a X1 by R"wan that this sort of maonn is 9109
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a) nvw of X7 an for Xax 92 “n7° 27 as understood by mooIN in PR 92 "7 on A7

ROP
0°192 2N 7Y NN NN 77UR7 11793
780 9 anm A 12X X 9
N nn 12 ! 12 nnn
PR noar slizirral Py PANR2
Byl v v v fpielap)|
anon anon
jap o} 7192
D°192 20D TIMA PRI NVNAA 707 1793

b) There is no wwn of 71 because if the quwn Sva is ran the ananx nww of the an>
0°192 he’d also be yIr2 1 the entire maonn of 2py° 12 312389 and the 713 would be
"7

5) "“xnof X"wann
a) ToRw

1) Why doesn’t X701 7 say more simply that o>7v sign as follows where 7 n*2
would also notice the nrmn

0°192 2N 7Y 1NN MANNA 77Vn7 11793
™A | W 12 anm 12 PR 12 12X X 93
e nn VDY | T PDww TV 2PV nnn
PR liahistal
hirsilepd TR
anon anon
o°193 o°192

0°192 2N T PRI MA°NAA 7uRY 1093

b) nawn
i) Must be that this sort of ma°nm is 7109

n72un? |2 IX T'N2 nIvoIn

12 927957 23 DY AN "1 32 30 R77 2N "2 1vARN TuRD 7Y 0190 7onb 32 I8 7''N2
TR K757 10 PAINER WO RI0D 1T "D » 'Y s N1

Win D 2" T 'a 27n winai xaio

TR 13 10 TeRRARR PRANTTRS 2''RY 7Y ans "ER "2 ' e "o wnpn b 1''7a
TR FTHURD TURbR RN 1D RWP KD MDY Doy "D PRInnn Yo b Ty
T B2 KDY I 2AINMT NI PR RANDNAT TR VAR 2007 90 N
1201 530 KDY 7 2RI TR 2P0 MW RNT TV NBR DaAR D% 7T KDY AN 1IN

2"
1) xa7 qwnan — yien of Xvr i to the X°wp of winen as explained by a"awA — note by

the way that this nv*w in & w1 2n differs from the 7w w of mooin that was discussed in
the prior 27

a) For xar 12 "»n a9
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i) asin'x 7% the o>y can sign nunb 7%ynon at a right angle to the 00192 20> so
long as they begin their nn°nn opposite the first 77w of the %192 an> and end
their > nn opposite the last 77w of the o°192 20>

79 RIR 72 9T 277 RIPORY WNPR W W 1IN — 'R R

Rl
TuRY ahynbn

XA | Y Nnvaw 12 12 X 92
nnn | 7w T ju! s mnnn
1NN v N3 12 [P 1NN
hisiel TR

miglnlal anon
0°192 0°192

ii) and as in '2 7 the o7y can sign a%yn? qunon at a right angle to the 00192 20>
so long as they begin their nn°nn opposite the last 77w of the 0°192 203 and
end their 7°nn opposite the first 7w of the 0°192 an>

b RAR 92 9T 277 RIPOAD WNIPR W BW PR —'2 N
Rl

Tounb unn
TN | Y nyAY 12 121X T30 7793
nmnn | Ty a7 12 "o nasnn
PR | 7y “no3 12 TP PINR2
TR R
anon anon
0°192 0°191

iii) it follows that if the avws Hva is 11 the nnnk nww of the o192 an> if the
700 is un? aYynon the 7 02 will notice the unusual event that no v
completed his °nn — and if the mnonn is 7%vn qunon the Avws Hva the 7 002
will notice the unusual event that no 7v used the complete beginning of his
name

2) mooin
a) Nwp to 0"aw"

i) If the mm»nn are unY 7%9non the mro1x would remove only the word 7y for each
7v and this isn’t unusual

3) X"wann
a) Why doesn’t m»oin also ask this X*wp to o"awn

i) For mbvnb qunbn the arma would remove the first names of all of the o»»nin and
this isn’t unusual

b) y1n

i) First names vary in length and it will be difficult for the quwn va to be mon
them all without the 12 being noticed by 17 n°a — but the ending of 7 is
more uniform and it’s a X°wp that the 71°1 might not be noticeable to 17 n»2

31 A" T NIvoIN
Y27 X7 32 ORTIT 2119 "2 0T A N7 ORT 2R OR "0 TR ' 7a
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207 7
QT2 20! 'RV 1" TN2 NI9OIN

1B RT A IO T DIST ST NI D1 PRW 1190 7R [N 7MY 20p 07
TH''RD 2R MIDDINK 3P "D IR V' W KDY T8

Inamn 1N 9% n"1n

"2 397RD 292 W ANDT 11927 12 PV "2 P "o e B "o 0B 7''7a
P WO "2 DTV PO RRAW QP W 2INDT A1 RNWIT PIRTY v 0oy
29029 2''IRY PRI QPO VAT N2 TN 23 771190 W 200N 2P IR A
90 2P QPP 12 DWW KD MM "2 N7 010D PRl T AR ORT B 29y 1w
R WO 1907 TN DR 2'awnpn INTID 2 ROIpRD WST Nika N2 20w

T RY QOPY IR QIPRD PR VDR PR PWLIR "2 PR

Ni7Y ROW 703 930D 2now 2" awnnn Par B''op 10 1n2mmaw 7R RO 2w 7R
191277 RD1 5o "2 107D KRR 12 7230 12 IRIN 2 RITOT 92T 2 10 1102 2D
2'T7Y PTRR PR 1 NI

1) First an7pn based on 2"awn on '& 7y at m100 prn "7
a) A-vw is moo if it has a prn that isn’t 0pn
2) Second nnTpi

a) In the a1 of the X3 the 17 was that "nnank awown P> PR to avoid a a1 by the
Tvwi Hva by writing a new °xin into an empty nvw between the an> and the o>y —
the wwn is avoided because then the nv>w with the new >xin becomes the nvw
ananx from which 1972% R

3) Third 7P
a) I

i) 90 write 0»p1 1w after the words 2 X°1p% w7 X192 P1n K031 to mark
the end of the an>

ii) 1% from annx qww until the words P 1w

iii) we’re ooprin o»pn until the words a»p1 7w except for a prin where ) 1w
might have been written

4) Mmoo — X0 of the vt anan

a) We’re wwin that o>7v might be P ron their m» nn by two pww from the 2n> and
that the qvw: %2 could then be >y27 *x» a3 in the first of these 1v>w since this
70w wouldn’t be the AnAnR YW

b) That’s why there was a m1pn not to be % from any an> after o>>py 9w even if
the o>7y are p°nnn their N by as much as two Pow

5) X"wann
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a) Nwp

i) Even after the new nm1pn we ought to be wwnn that the “vwn ya might be prmn
"o»p1 " and in a apnnia of two purw before the i nn the auws Hva might
be va7 °&n 2m> and write a new °°p1 7w at the end

b) v

i) We’ve established that o’prin ovp doesn’t apply to a prn where o1 1w
might have been written

c) Nwp

1)  Why would we think that o> 9> w was written in the place where there was a
prn before the final two Pvw

d) First y1n

i) If the prn follows 2 R°3pnm qwo7 RIn2 we established that it’s common to
write ) 2w in that place

e) Second y1n

i) since we’re wwn that the last two v w of a "uw are later additions by the %va
“vwi and that the third nu*w before the m» nn is the last nv>w of the actual an>
— we consider a prin on that W as being in a place where o1 9w might
have been written

6) Twni of moon — nR I

a) °"1assumes that in the 1 of the X the 17 of ANk Fwwn % PR applied only
to a *xin that’s 721" of the ~vwi Hva

b) o"awn implies otherwise in oy 27 K 7"7 0N 'R TNy

:a0p 7
IN7 X'varX 2" TN ‘N 270 0rTYR DX 7'NONT X1AI0
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TURDW XA a3 {1PTRY 170 KDY NNNT XA D''ARY — anvhwn 73R PR vw
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1) xn»n2 as explained in the xna

a) "W nnR avw 2305 2N37 1 PYW W 22T DX Pnn" because
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i) Where there is a npnni of two puow the avwn Sva might be *¥a7 °8n and in
both Pv>w and — although 7 n°a will ignore what he added in the second fvw
because that 7w will be the new R nvw — 17 2 will take into account
what he added in the first now

i) But where the npnniis one nww it doesn’t matter that the “vwn Sva might be
Y27 °RM 2M> in the apnna since AnANKR TwWwn PTAL PR anyway

2) X
a) 17 XM AW N ROVIR
3) mooin —a"a1 as explained by X"wAinn

'R X720

0w *¥n npra | anonaro | 1
0w 0w DPRnn

o7y N | 3

a) If there was a npnnn of s 7w w in the 1938 of 'R X720 the 0w is 2100 PR
because the quw: Hva can be *y27 *X an1d in the apnaa of swsw >xmin line 1 and in
the bW v w npnain line 2 — and we’d be 2% from what he was 7o in line
1 because only line 2 will count as nnank nww

b) The x>v2°x applies only in the 19 of 2 X?2v

"2 XYV
anonaro | 1
'a phm DWW Npna 'R PO 00w 0w npnn | 2
o7y nenn W xR npnaa | 3

i) Because although there is a ipnnn of only one mv w between the an> and
0>7v NN

i) The avw might still be 9109 because persons might be 1w and say that the
0°7v by their nprni to the left in line 3 intended that an> in the fv*w > to their
right in line 3 count as a nnnx 7w w relative to the 2n> that’s written in 'x pon
of the m°%w v w in line 2 — and that the iR v w that 7xan P PR is only
'a 751 of line 2 and the v w >xn to the left of the mn nnin line 3

niNS n"Tn "2 77n D*TYN NX 7'NINT XAIO

SINP N7 ANST NN ANST R 29027 RO v TR 3T Ny o e '
TR T KDY K7 AHD TR AT KUK DODT ans7 12 LW 2 pomrana p''oRT Rwma
P02 JINT7S Y''OR 10D RITT 2V NIRRT DWW 2N IRHAW IR PR 0N wnn
2ND57 D92 INMRONMW WY TRT 12 KUK DI0D LIS VAR 1IIMIND IR TRT IR whNAT

TR TIINANN WO N0 10A2 2w RON

1) xnoon
a) There is a 2°Xin nPY?nn on "W RN 2N57 1M QORI 22TV 1 D"
2) Moo —an AN
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a) It can’t be that the npYorn applies to how much 7m0 there needs to be from the
anank 7w of the ans because we already know that the npnnn needs to be less
than two Pvw

b) Instead the np1omn applies to 737 1 apnan
3) R"wann

a) "737 7" can’t mean that the nwa°nn are in the right 11°%3 or in the left 11993 of the
TnanR nvw and are at a right angle to the an> — because a mawn in pva says this
sort of i is 9109 regardless of the extent of the apnan

b) Instead 7377 7 means that the nm°nm are in the left 11°%3 of the 2n> on AR VW
and are anon *9%5 — meaning that they’re after the an> and in the same orientation
as the an> (not at a right angle to the an3) — and the npYomin is how far into the 11993
the o°7v can be onmn without being 501 the ww
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NIOWDR 92T 11D ROIT ORMAY TN KDY 37 7TONRT 37 RO R 0w A""H7 2 awann
TOM2Y /R 9 073 NIDDINT DA 'Y 1D 991 KDY R ORRY 71NN K92 PR 'a
TUIND 'R TV MBR RO JINN KD PUR ONRT "D R ORRY 'R W 95057 Nl
RO IR 372 NS OTD NPT PUIR 292 21000 2R D''YT R ORADY 2K 20 ININa
BIDDT MR K92 PUOR 27 ROMIT RIT TN K92 'R T Y P A" 9 "1 o

IP'IITY MWDT MR K2 N WO A1 Inp

1) xn»m2
a) WD IR MND 910D 2NDT N PYW I DTV DR PO

b) We’ve explained that this is because
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2)
3)

4)

5)

6)

7)

8)

i) Where there is a npnni of two puow the avwn Sva might be *¥a7 °8n and in
both yv>w and — although 17 n°a will ignore what he added in his second new
7uow because that mww will be the new 30 7w — 17 N2 will take into
account what he added in his first new muw

i) But where the npnniis one nww it doesn’t matter that the “vwn Sva might be
Y27 °R1 aM3 in the apnna since ANANR TUWwn PTAL PR anyway

R — 7R ROY 377 RA27 IR TN 17 1KY PUOW O 172 XOVIR
72wn of prxs 12 a1 21 for the &0 of 2"awn

NI OR1M2 17X RDY 17 0T RPDO ORT 177X 377 XN2007
X"Wwn — w2 for o"awn

a) Without 17"x the two v w need to be mp7 and as a result the a1°r would be 121 to
"7 "2 — S0 X117 °Xn? — meaning the a1t by Pvw '2 na°n> will be of no use to the
0w va

72wn of prxs 12 a1 21 for the o of Xnp wi7°s of MvoIn
ROTT7 ORRY IR AR TV TN KDY I TNVT RPDO ORT 17NN 37 X200
X"wn — K02 for Xpp wivs

a) The =& of a vw is the same size as the nv*w — so two v*w with normal an>
without 2mx are the same as one normally written mv>w with 9% —and nnx now
XT17 ORn? %81 — meaning one nvw will be ignored because annnn awwn 1747 PR
—and if the avw: ya writes two v into this space the nymx will be mp7 and
the 71°1 will be 1273

72wn of prx 12 a1 21 for the xoaa of PwHon W in mooIn
ROIT7 OR2Y TR RDP2 DAR W 1R KDY 3T TNYT RPDO ORT 177N 37 XI2N07
X"wn — w2 for pwon v

a) If the xn>92 that says 2100 v w 'a porn deals with 179%X% 892 then when the xn>>12
says “w> ko1 NNy it refers to 777K XY nnk 7w — that’s why the X3 asks “of
what use is "R R92 nnx v

37 120 2" T NIDOIN T 27N DFTYN DX 2'NINT X'AIO

WMIVYS 12 BN RDT T9 T9 57T TAID 112 IN INWKRD Raw 7' o v "o e e ' Ta
B PN IR 'R MW7 B H'RD 10 uwn 'R w7 2''RRY 7'en B oy a2
YO DIPH TIMDTD MWPA D'RT PINN KD PV 2% N N MY unb n''oy hynb
NP 95 DD 'ownm wMan " MIPT PUOR "2 912 202 ARW R NP 7IN2 'R

1)

29 my
Ay Pl

a) We’ve established for xnp w1d that prx> 92 yam1 27 says that a “vw with a npnan
of 7Ry pnX YW (meaning one 7"R) or 171X X722 1Y w "2 are each “w> because
"xor oxnb" applies to both
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b) But we haven’t established the 7 for 19" '21 nnx VW
2) Twnn of the X

a) A npnamis oo if it’s "un? 701 Ayt — "% 12 02 A" — namely there is qvw
TR "2 NN

3) moon as explained by x"wamn

a) It follows that the space needed for "% '21 nnk AW is greater than the space
needed for 177X &%2 v w "2 and is therefore 7100

Nan TVY A" TN
HXD "D MWIN AR 2MARY 7' a7 DY "D Ran aww 'l

A0 q71
NN Q"1 n"awn

"N RMHTY 7''72Y 7''07 STI0 SMAMY 15 P2 KON 71''72 2''aweea [2 7MY aep 07
BED 15 2TV TUSW MR ANA 19D 92 S 11721 70 oy auws

1) pner " s A" T D PN DrTYN IR 2'NNT XIAIO
A0Y A" T M 09 TIA (MNIX AN

"2 H"op 10 MWs 2% RNTWRD 297V P2 'R 7w 3R 1D 30 ' mR 7''7a2 'on
A''ITST 97 RT20 DY 11N RD2 MWST 297YR RNTWNR 12 U 22 7777 5 v K92
DI 2" D129 RY 297U% RATWK 192 91 U '22 N7 RNMNR NN PRPRR PR
LW MWYD 2120 R RIT "D RAMYKRD MR PRAPPR PRY 'R UMW 2979 0w
'DINT WP 29 MRPT R2W IPIDRD KUR PIOD RITT NAAINT VW PTYY 'N Twwa
PYOW "2 MWW WY RDLW 7D VW Y2 297 19IDR IRTY U '3 1100 R2wWaT 'R 0w
TP AP RATWNRY AT 0Ia P

1) First nnipn
a) W2 NAR WA P R
b) 2w nww Sy I PYw 22 RN
C) 209 NINR VWA TV NAR VWA RN
2) XM
a) Xm°n of 27 — W N1 RAW FPANT DR RNWKR? D7V P2

b) xwp — we ought to be wwn that the qvw:s Hva will be ma the top of the vw until
the npnnn — that "770 2°nmmY >vaT Xk 2N 921 RNWR? 227y 12" —and a later n°a
17 might rely on the Xnawx to assume that the prior 17 n°2 was o»pn these nw nn

C) 71PN — XNOWRY 227V 12 vrwnT — the reason that v1°w removes the wwn of A1 isn’t
relevant to this X"wan
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3) x on the mvew of e "

a) 1m ' disagrees with 27 and holds that nnx 7w w AP 12998 RNWRY 0°7v 172"
"109

4) mooin — "n1°K" on the np1onn between 21 and 1 ' as explained by X"wonn

a) 1 " holds that a qvw without vyv is 705 even for a npnan of only one mvw
because — if the qvw:n Sv2 is 1on until the empty v w and is >¥27 Xn 2N 71
770 2N in the empty mv w — the resulting "vw is 7w> as a ww that’s 17371 X
nnX nwwa —and a later 17 n»a will rely on the xnawx for this qvw

b) 27 says that a "vw with a apnna of only one avw is “w> even without v1v because
7"2 doesn’t rely on Xnwk for a qvw that’s nnR AYWA 173 RIT

5) R"wann
a) 7oRw

i)  Would the same np1onn apply where there’s no vv and if the 1pnni is three
oW

b) nawn

i) No - even 21 would agree that the “vw is %109 because the avw: Hva might
be 7°°12 a qvw on the first two lines of the pnan and be o°7y a°nnn on the third
line — the resulting “vw would be 2w> as a qvw that’s 5y 1731 Pow "2 X"
"3 7w — and since the auw has more than one nvw a later 17 n*2 would rely
on the RnWwR

C) noRw
i) Does the same npyorn apply where the apnan is two Pow
d) mawn

i) Yes - the "vwi Hva won’t make this into a W that’s 1791 nnk v w2 X"
"nanR v w2 because the 7w would be 9100 — instead there is the wwn that the
Tuws Hva might on the first svow be *ya7 *xn am> and o*7v o°nnn while he
leaves the second nv w unused — and the avw would be 2w as v wa Y RN
nnx

ii) It follows that the np12mn of 27 and a1 'y would apply — because a1 holds that
7"2 doesn’t rely on an Xnwx for a qvw that’s nnR VW2 11 K17 while 1m0 '
disagrees

e) Nwp

i) Since 27 is 2019 a 7pna of YW X where there’s no v1°w why does the X nx say
that 27 is X210 190K won

f) y»n

i) The X713 means that where there’s no v1°v not only is 2°won 27 a apnaT of one
mow (unlike 13m " who’s 2019) — 21 is also 1°won where there’s a npnai of
two v
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'N now a"1n

TART "D MR NMNR VIR PTYY DA WD RIT R2T W "0 'K o 'l
T WO RDR "D IR 291N 2OTYIT YIDY TUR T R 1D auwa mhynd 1 phn
THTE 1D MWWST TN AN IO 12 1T YT A "D 2nnd

"N 770 X912 0" T NIDOIN

N7 2''R DaR W7 A7 0wy 2o 12 M7 prnn by 7YY "D XD '
DR NI 2P RAI 2"'Y N0 PO RPADT RN TDT TIADNT NWp Rsya
797 RD 2R DI0DT Pran DY 1T 9017 DY KRNI 77 RAPOYR KRR w1 ' 'ovnaw
STT0 RITIN 12 230D 7117 ORTIT 2onh ROV RDT 12700 RN 10 97770 N3N 12 ano)

I2'1TY D00 U Y NonRR wInh PRT 1D

1) xm
a) 21 holds that “w> prina 2y 1791 X7
b) noRw

i) Why aren’t we wwn that the uwn Sva will be prn the 221 a second time and
be *va7 °&n 2>

c) mawn
i) DYD NWw prni? DR QYD prin a7 IR
2) Xn»2
a) W2 prng by T 1T DY XIN
3) X

a) xwp — for 21 why does the xn»>2 permit a qvw that’s prnm 5y Y791 917 59 R —
we ought to be wwin that the vw: Hva will be prna the 21 and be *y27 >&n am> —
and 1>7 n°2 will be 2>won the resulting avw as pring Hv 1791 X1

b) y1n

i) ona"uw that’s prn 5y 1791 9717 ¥ X117 the 0°7v need to write 151 X1max on the
Juw to state that the 0w is prna v Y791 717 %9 X

ii) and as explained in 2 p%n of this x>0 it results that the qvw can’t be changed
into a 7vw that’s P By VTN R

4) moon
a) 7w> of Mmoo in our Xo"

DY RIT ORIV RAW {PRnT DY 1TV RIIW 0WY} WINI INKRN OX)
PIAM DY MY SVAT ORM N1 W 93 PAm MIeDT prng Yy 1T 710

PN O 1T %037 DF RIT I RIPYD ORW WitA? RDOD RAD 1m0 v
2109 T0W 17 70w WP 1°RY 191 RIMIR 77707 2770 1°2 2310 M7

5) H"wann
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a) Mmooin asks its xwp for the x1nx M of the x nx before the k7 realized that ov7y
need to write >7770 X17IX on a W that’s prna v 17V 717 DY R

b) It follows that the correct o3 in mpoin is =w>7 instead of 91057

6) X"wann

a) Nwp

i)

Then the xwp of mooin is in effect the same as the xwp of the xn:

b) v

i)

i)

In fact the original xo7x of 21097 is correct because mooin in its X°wp deals
with the 25w of the x°x10 after the x7na realized that o°7v need to write Ximx
770 in @ uw that’s Prnm BV PIYY %17 OV X7

Still maoin in its xwp assumed that it’s possible that a Mm% gave the “vwi Hva a
Tuw that was 2109 because the qvw was prina By 17wy 7217 5v R and the o7y
didn’t write X1mx — and the “vwn Sva was later prn the 71 and was >&» and
>y27 — and as a result asked how it is that 21 permits a quw that’s 2y 1731 X173
prna

iii) moown in its y11°n answers that we’re not wwin that the m> gave a %109 ww to

the mvn

02 Q7T

ANOW 10wl T'NA — "2 770 X912 2™ T nIDoIn

PR Do "D R"D prn1 BT Ipmaw 9917 DY answ uwm 7R [R TR Tep 07
"2 IR OO WRTT NI D03 NI INT 2 ONY 2AYE '3 W WA PINRY RAWT
RINY PRT RO D97 1M 2R AP w01 RS R pral KD 27U NRONMY QYYD
79779 R 2TV NRINMY 290D "2 P BT upnn anT 10 Y70 RITIN PR RAw

'"TIR"D R"D P

1) Twni of mooin

a) Nwp

i)
i)

Why is it that a quw that’s "prnm 5y v X" is wd

We ought to be wwin that the avw was originally "prina 5y 17371 9710 Sy X" —
the 0°7v wrote >770 XImiR as required — and the vwn Sva was prn the xamx
7710 as well as the 971 on which he was *v27 >R 2an1>

b) y1vnofo"am

i)

"770 RIMIR" IS written between the mnonn of the first 7v and the nnonn of the
second 7v — it follows that if the qvw was at first prnn Sy 731 792237 5y X7 and
the “vwn Sya was later priva (i) the 71 that was never prini before and (i) the
">7770 RIMIKY" that was written between the nin°nn that were on prn from the
start — the result would be that the place where >770 Rimix was written is on 91
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that was o>>nys prini while the ans is written on 91 that was prini once — and
since "2y W prni® DR avd prnd w17 1R the 9101 will be 721 to 17 N2

2) R"wann
a) Nwp

i) Maybe the 711 won’t be 1221 because the avw:1 Hva will be prmn the +1a
second time before being >¥a7 *&n 2am> — so that the place of the an> and the
place of »770 xRk will both be o»nys prin:

b) yn

i)  The avr will still be 1221 because the qvw: Hva won’t be prin the 2>y nnn
that are written on 271 that was prini once — whereas the place of >770 Ramx
will have been prni twice

ii) moon follows a similar 7277 in ¥y71 7"X2 that’s discussed in 71 P70
c) wwp

i) Then a"2>7 should have answered more simply that there’s no wwn here
because the nw nr are on 971 that was prini once while the place of >770 Ramx
will have been prini twice — without having to mention that the =°°1 on which
7vw;T 5va would have been >ya7 *&n 2m5 would be on 771 that was prni once

NANTX T'N2 — "2 770 X912 2™ T NnIDoIn
DO RO 972 0% 27 797 219 By "2 IRTIT N WS IR 7T 727N 7''N2
1H'RY AT AN WY RY IRTIT 937 DY 2100w O''RKR 10 9770 RIMIN
1) mooin
a) xwp by " to "2

i) it’s possible that the Tuw that comes to us as prnn v 1731 X was at first X
PrIAn Y 17 017 By and 07770 XamaR was written on 991 between the mn nn and
afterwards the qvw; 5va was pmn the an> that was on 2°°1 and was >X» an1d
>ya7 and he was also pmin the 770 Ranax that was written on 221 — and in this
case nothing was prini twice and 7 n°2 won’t notice the 1

b) Possible y17°n

i) 17 02i0s 01 a W that’s pring HY 1731 717 9 X if >770 XMk is written on
7>°1 instead of on prn

C) ®2>7°9 as explained by X"wann
i) It’s more "anon that 17 n°a would

(1) permit a "vw that’s pring Hv 1791 9317 5Y X7 where 770 XImx is written on
91— since there is less possibility of prior avr

(2) and instead be jpnn that prian 5y 1791 Ry is 9109 because of the wwi that
the quw was initially prinm 5y »731 9217 59 X177 and 770 XImIR was written
M1 Oy
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"TNO NINIX T"'N2 — "T '7n X91A 2" T NIvoINn

TR RDT 2119 10 2T T2 1AM PR 12 IR IR 19T PR D70 NImIN 7''R2
SPIDN PPIYDT 12Nawa 2R YD PRI TV YIDD MUY '2 21000 RADT 10 prn RAw
AR YRWR 97 2I7ON2TY 5D D''RD B'OY TRR TIRwa RUR IR RDT TORT RIAR
Do PRR 190 A PRT AR ROZWTD POURR 'R 7Y 'K 92 [nuw] (mww) 'aT
'R TV TN RIMR PR PAYST PR Yvawa R''s 21w b w R'Y p0 Nuw
7T IRRTY PR WP KW TR K22 700N 'R Bow ''va nmTya o''RRR ansa Toynwa
W'RD DY MTY 1D IIAWwA KPR 2nDa 'R TAID Y97 19T RDT 1ApR MowAT N
2I7Y "2 725 RI1A% PIDRY 17 K'Y K22 nUR 22 AT "R WY paph w''RAT
R'"'S PYUR 2 Ry TV 7Y P2 MUY 'a RDINT2 R vt w1 p"'va R
29937 DY MDY MWW KA NI RAWTT 2NN PIRTY WN PR XORNTE R''ya
AT RAR RAPY ORI DIBD MWW 70 1D 370 RIMAN 12 2NN pran DY 1T
17T R RS NMLR "2 TP PIRRTT WY PITA 2A NN TIAN 1D 70 RIMIN
TV MIDDW PV AW IW MWW {PRITAT PV MWD} TAPOYT W AN L
RITIR PITANY STPIT R 7T 719570 IV 110109 PRI IR MW 1100 Y w0 1w
"ER 77 9T 'OIN 719932 INRTR 2N NIV "2 WYY 2RI PWRTT TWRT 2N OO
TIDT 3190 W 2N TYY 7Y YO0 AR RPY K'Y N0 'S Yt RRW JWORT 209102
2R POAY IRTI PRI V70 RITIN TN RADT WA D'RT MWIN T 2R TR KR"'ya
527 9257 2''RAm DaAR 92T PYS RYT P'SY ARNTR 1TV PR R uwnw

139927 922 JIRTN VAT 9272 92 TN PRY TINAY PRI 2T IR 772 0N

1) Twnn of mooin

a) w9 of the y1°n of °"1 to explain why we’re not wwin that a vw that’s %¥ v R
PIAT Was ONce prind 2y 131 7017 Y X where 7770 Xamax was written on 271

X770 1°2 ©°N1°2 M W 12 ORW 770 RIMIR Prin RoW 11000 K77 2™
RPN T30 [*770 RIMIR IMIP2] 2377 A7 172N PR ®nnon(1)[ 7] X702
19 VW DR 777019 2N2% 0YTVA P2 YW CIWW 1091 — PO CIWH Mo
PR YRWwN 191 7Y 7197 MUY '2 21N2° R1DT 201D TYR TV 172 PUIW W

TIMA ROXITD 1OIVEA NN W1 DTV IWw

2) X"wann — w2 of the yyon of o'

a) "0 RamaR" is written on two full yv*w between the mn nn of the o*7v — any ww
that has two empty 1v>w between the nw nn is 9109 as we’ll explain below — it
follows that we needn’t be wwi that a “uw that comes to us as prna 5y 17791 X173
was at first pran 5y 171 17 Sy R and the qowi Sva was pmin the 7770 Ramax on
the two v w between the nvaonn

b) Here’s why 17 n°2 is S0 a quw that has two empty v w between the nmnn

i) the qvwn Y¥a might be ra the qvw at the point immediately after the °nn of
the first 7v — thereby leaving the avwn Hya with two mvw

ii) the avwn Sva might then be prn the ans in the first 7uw and be *ya7 *xn 2m3 in
the erased 1 v>w before the nn°nn of the first 7v — and he might also be >x» am>
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*¥27 in the two empty 1w of the “second W™ that’s valid as a quw ono
where the an> is on two v w and the 2°ni is on the third v w — and although
17 1R from the second v w that’s a1nR 71w still we’d be P2 from the
first moow

3) Twnn of maoin as explained by X"wann

4)

a)

b)

d)

ToRY

i) Of what benefit will it be to the quwn 5v2 to have one W signed by one 7
and another “vw signed by another 7

72wn

i) It’s ynwn from the X3 at .op 77 that two mnvw each signed by a separate v
MR are 1o7vxA to be 1nn Xoxwa the same as if there were one “vw signed by
two o7y

Xowp

i) an7nX 7v who’s 7"22 519 Bwa 7yn is careful not to be 7pwn because of the oo
of 1My Rw1 73 XY aR) — presumably this doesn’t apply to an an32 X v

i) so why isn’t the wwn X3 that each nx 7 is 7pwn when he’s amn his qow

laRit

i) we know from elsewhere that 2n>2 7R 7¥ is 2>°nn a 712w the same as TR v
179 Y2 and we’re not wwIn that the 7v is pwn — so it’s 7anon that an 7nx 7v for
one an> and a separate 7nx 7y for another 2n> — neither of which is 7wn to be
apwn — can together be yan 2»nn the same as two a7y each of which 7" is
7V separately 19 Hva

Twni of R"wammn

a)

b)

Rowp

i) When a person presents a quw that’s prinm 29 1791 9717 5Y X137 and 770 RINN S
properly written — why do we accept the avw without being wwn that the Sva
uws will be prn the >770 138 and be 1o the avw into two now

v°n

i) This is a i wwn for a avw that comes before us as prina Hv 1791 9917 HY X7
with a proper *7:70 XX that’s not Pinn — contrast a “vw that comes before us
with two empty v w between the nva ni where the wwn of ™3 Xaw isn’t P17

yT7I T'Na X"wnnn - ' 270 X912 2T nisoin

Y IRT M7 DY "D 970 RIMIN 2nsawa) 212700 K17 01N W RXION ORIT T
anoIwa YaR R"Ya RS MNUR 'a Ry 7YD 7Y Paw PuIR 'aa 2100 RRDT e
7Y% TV AR MW "2 JNIN2 NS0 WM N2 IND PR PraT BY 1D 970 NIMIN
R'"'S 27 pPRnI PR 20TV NRONM D' 2RI 1T WO IR JMINT DN N MY

2T
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1) mnpn

a) Refer again to the y17°n of *"1 to explain why we’re not wwn that a 7w that’s X173
PN DY 1TV Was ONce prian Py 1T 7037 DY R and 7770 RInak was written on 773

2) X"wann
a) Xwptoo"

i) 717072 won’t be Y01 a Nvw that’s prian 2y v R if ©7770 Xamax was first
written on pr» because there would be no wwn of 1 into two nvw

i) Here’s why

(1) once the second ~vw that results from the 71°13 comes to a later 17 n°a the
later 7 n°2 will recognize that the space on the two v w before the
second 7 0 is on 271 that was prina twice (once when the m»°ni and
7770 XImax were first written when the avw was prnn v 19791 97030 5y X7 —
and again when >770 Ramaxk was later prini) while the nn°nn themselves are
written on 91 that was prini only once — and we’ve established that 1°X
D°nYD "2 pni? NAR QYD Prind amT

iii) note by the way that in this second “vw there is no 21 that was prni — so the
xwp of X"wnnn needs to rely on the mn ni themselves as being written on 2
that was prni only once — X"wann refers to this 7731 in "2anow aowm" 7"82in
'2 pon of this x°20

b) v

i) If avw that’s prna 5y 12731 X7 comes before us where >770 Rk was written
on pria and 770 Xamax was later prina (to change the aow from 171 9737 59 R
prnn 9v) so that the opn of »7n0 xamar will have been prni twice — 17 nva will
recognize the a1 and will be 5019 the qvw based on the x120 of 0"2°1 that 1K
91 71417 — without having to rely on a wwn of

ii) Inshort

(1) avw that was prini By 1791 9717 5y X7 and was changed to 5y 1731 X173
prna by being prn the 7770 RamaxR

(@) would be recognizably 7105 as a2 under the X120 of 0"201 if at first
7770 RITIR Was written on prn

(b) would be 05 under the 120 of >3 based on a wwn of later i if at
first >770 RamIR was written on 972

D"avn Uo7 nwpl TV8a - "1 770 X912 A" T nIvoIn
NN 12'X AT TN

12n2° 7% 12 910D 7YY T P2 P Y9 WY aRw 10 aw a'awn b wpy 7''Na
579 ROWP RY 2270 DaR 'R0 D' o "0 MW IR 7T 2TV IPOMTNY 970 NIMIN
"2 prRI 7T O'RR PI0D 1N TYD 7Y P2 PR 11972 "2 970 RIMIN 23020 KD aNT
"2 PRI 201 R PRl N2 "D 970 RITIN 21N 799 R''D 2TV NAINM 2D
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207 NPT {17 W7 929 wIMEhE R'M29MDY 12an0w RXIIN ORAY TN 2D
TP N ALY D21 KD IRTY T TV TV P2 PV '2 MW RIT 10 V70 NIMIN
BT RV RS ML "2 WY 1answ XDI0D RYTT AW YR 7Y Pa M

17 PR B oY "1 7991 oD ROR Y70 RIMIN IR INRW 219 SINTIWON 7Y 7N
T2 7Y TR TV P2 970 RIMIN YOS PRI I WRPARY 7YY TV P2 901 wIT Al
TP 2R W DI0D RITY P DY BT Y PN AR

1) now of o"awn

a) A “uw that comes before us as prinn By 1731 R is 209 if there isa v 12 pima m™
7v7 because we’re w1 that the qvw was changed from prnan 2 »737 9037 %9 R
and the avws Sva was pmin the 7770 xamax as well as the an> that was written on 773

2) mooin
a) Nwp to 0"aw"

i) why do o7y need to write >770 RIMIX 0N @ W that’s prian ¥ VI 1037 Y R —
it ought to be enough for them to leave a P 1 between their mnni so that
if the qvw is changed to prnan ¥ 1731 X7 the Avw will be 109

3) X"wann

a) The xwp of moown doesn’t apply for 0"2° because we’ve established for "2
that the avw is %100 only if there is a further np°min of >7i70 Xamax that would be
recognizable as 71 that was o°»y» '2 pring in contrast to the nwa>ni themselves that
are written on 771 that was prni only once

b) The xwp of mooin also doesn’t apply for *"1 because we’ve established that >3
holds that the m» between the n»°nn needs to be two v*w long and that any ~vw
with two empty v w between the nia nn is 7109

4) Twnn of moon
a) yrenforo"awn

1) The o7y actually need to write >7770 X1mak only where the space between the
mn N is 971 so there’s no PR M

5) X"wann

a) Even if there is 71 between their nva ni there should be no need for the o>y to
write 7770 RamIR — it should be enough for the 910 to be prn part of the 91 that’s
large enough to have contained >7:70 XX

6) Twni of moown — the y17°n is X1 1°K for a reason not relevant here

:TOR 71
N)1'na n"Th

"2 JIAST TS WTIRT PO Pawn "o b vH 7Y 15 'R K17 7' [2 TRy Top 1Y
WY 7" 2R SWITINR 2719927 1990 DY Xany 55 5oy 19 25m 2vsn PIwhs T
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N0 71
MmN NN 2" TN

2N MNIRY PAD 11D JIAD IR KDY MMV "33 1D AR MR 772 [R TRy Top 07
B'oP 1D AIMRY M1 WD TP "D IR TOYR B''YaR "D IR RN Y 7Y
A''ITSR 7R PINT NN ROWP AN KON MMARD TMD KRR R 2''RT MWPRD KXW
SRV PP DY TODM I 2no2 YR 'R NRON 70N 7Y IR RDWT 10
151 DIDDT 21N TR TMURIR KDY TOUR 1R A" 1027 RTINPND 190 RUWDT TWORT

1) mwn
TP10D OTPAW DTV 21 12 ANOW WA TR TV 12 2IN2W 0D
2) X
a) Nwp
i) ok holds that qowa TR 7V is 7w with 79 Hva 1R v

i) It follows that for = the 71wn on vWws va teaches only the mvws that a ~ww
is 7Moo if it’s signed by an 71X 7v in a case where there is no m7°x with an 7v
VW1 NN

3) mooin

a) It’s possible that am K says that 7192 7nK 791 q0w2 TR 7Y are Poawxn only if the v
70 yaw is 7yn that there was a 700 by the m?> to the mn of the qvw that was
ann1 by the an>aw 7y — because in this case the an>aw 7v also counts as being 7v»
on the 77°0n and we follow a1y5% " that °na> 700n 7

4) R"wamn
a) Nwp

1) Why doesn’t the X3 answer for an°nx that the nawn teaches the xna7 that in a
case where there aren’t two :77°0% *7v — for example where one 7¥ is an32 7°yn
and another 7 is 719 Sva 7°yn on the X177 — there is no Mx

b) y1n
i) That there’s no 717X in this case is also a mvw»

INN'NN 7y Navw TN NIvoin

by TOPAW 197 5''Yaw 'K 15 152 LW 2IN5W A0 1D W NRsnn Y e 7N
"2 19RINM2 PTYT RNGIPN IRDT 902 IBR "2 2SI 2R 11957 10 W NIvonR
TBRD "ND TANRY 1T D'YA 7Y 1D NN IMITY AW KD
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Jdop-:nop 1
NDO1 NN'X 2" TN 'X 77N X201 XN'NXT NX'AIO

"D NI "aa%n D222 92 23102 39K RN 'S "D M 7T M "2 RoDI RPN 71''72
1D AT NIWINE RN 2R PRRRY NIWINE RN P PRY "D AN M0 R e b
VYA NEENT R R'ED Doy 15 RWIN2 N0INM VW RYIMA KD IRT "2 Poyawa m

H''PY TP "IN R0 TOOR 3ITT SWIND RPINY RRIN2 MpRY B'' noon

1) First an7pn —an 1o°x is the smallest yavn of no>
2) Second 727p7 — NOON XY 712191 NOON — NDON LYYA NOON
3) Third 7P

a) RN™32—"702 1T MO PR A0 K"

b) X3 — "KDDDT SO 23D RDT RINRI — VD RHPKY — ¥avn 2 21007 — RI0I XX
4) mooin as explained by X"wAmn

a) v R2XY" means "oR KXY

b) xwp

i) presumably xo01 is worth more than an qo°x

i) based on nosn v¥n nosn the xna should have asked *v»5 ®»°X1 — meaning an
"ok — before it asked &501 kR

19 XOn 7aN TUNA "2 27N XDO) NNINT N'AIO

ToNT PR 11D PPIDORY 2OTTNDY NP 11D RPN O RO DaR 7R [R TNy 0P 07]
79 IOARYATA RO 3D MOMTY O By 15 MUIND PP TR 2ONMDT DD DR yaun
RIM0 RT3 PIPTS WOR 1Y NODN VI NOENT T0OR I JITID IR VAR KDY TR
TRTW AT RAT 097 RLRIPT KA UMD RPAORY KOOI RAINY TN RRT N2N0T

TH'"mY NITIA2 NIDDIND Y SWIMD IR RODI MO AN

1) mmTpa

a) We’ve established that in our X°»10 — to the xwp of "uv>15 Xn°R1" the X answers
"RDDIT VD [P KPT IM9] "A0 K77 RINKRL"

b) Inasimilar X210 in M21n> the X773 answers WK *72y K7 X507 *v™"
2) moon as explained by x"wamn

a) Both in m21n> noon and in our X210 the Xwp of "> &K1 is based on vy NOdHN
nosn

b) The reason for the difference in the 0°5%:n of the two nvawo is that

i) in M21n> noon the X3 by v kR means that maybe the mo» and the m»
by "noo" referred to mwns of nwna that are sufficient in number to be no> Mw
—and the X3 answers that the &n*92 holds that it’s more 12non that m» and
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m? referred to wnn oo and since *weK »72y X7 X5057 *v>10 the “vw couldn’t be
referring to mu» of o>

ii) but in our x>0 the Xnx by "v> 19 &»°XY" means that maybe the m%n» and the m>
by "noo" meant myn» and 2°11°7119 and o°1o°k and other qo> Myawvn that are
a7 o°nmind and are called >v» 5 — now since 702 *v>1» of this kind are >7ay
*wIR the X3 needs to answer that the &n»1a deals yavn 173717 PR7 ®RINKR2"
"7 Mnd [AD2] S0 it’s 1anon that the wvw isn’t referring to 702 *v™»
(meaning myawvn that are 21>7 0Xnnd)

ANTPA N 270 12T QOO T N0

MN>>120 P 'R X720
WD PN WD N an>
qo0d M7 0> ™72 | D PP PIPT A0 XN™0p RN™I27 XU
ety ] 277 7 2 171772 703 XN*>1np XN™I27 XDD
277 72 2777 "2 277 PP PO 2 '2 RN»127 KXW
2 q0d M7 "2 772 2 '2 RN*™M27 XD°0

1) x7ma as explained by mooin for the vow of i
a) TP

i) There are 77827 two reasons why in the x> of 'a xn»92 the n1mw of the
TPIPWN is 277 07 2

(1) 'x ovv — from the &9°0 of xn>»np kN2 it’s ynwn that ano 7772 the word
"1107" refers to 277 Sw T

(2) '2 oyv — the "vw mentions 277
b) xwp of "xknRY"

i) For the same reasons it’s 22non that in the x5°0 of 'a xn>>12 the 7 also ought to
be as in '2 &?2v that 277 »217 "2 mw obwn — with the only difference that in the
Xw the nmw is paid in the form of 2731 >71°7 while in the &9°0 the n1mw is paid
in the form of >>>75 X277

X0'R) PR — "2 K90

PN 19X Pvwnn NP an>
703 7 A0 TPT'A | A0 PAPTI PAPTADD | XNMP KN1I2T XWM
703 7 2T T 771772 7032 KNP RN™127 KOO
277 T2 277 7 "2 277 PP P A '3 RN°M27 XY™
9% K272 27 7 2 72 2 '3 RN*127 KOO

c) ynof »ax

i) 1r720n the ®9°0 of 'a Xn»12 can refer to 7o as well as to 277 — and the wow
might mention 2777 only because the form of payment is 27

i) The x>0 of 'a xn»92 relies on a1nnNa 5y AW Hva 7° to resolve this poo in
favor of the m% by holding that no3 >22>7 '2 mw o%wn

2) n"
a) Xwp
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i) Since nnnnna By qvwn 9va 1 why is the 17 different in the xwn of '2 xn»12
where the 7 is 2777 1107 '2 obwn

b) v

i) Inthe Xw the qvw says 112°7 while in the x5°0 the (W says 1121272 — 1737 can
refer only to a nvw of 2n7 — the result is that in the x> of 'a ®kn»92 there’s no
»oo to which to apply nnnnnn 5y qvwa Hva 7

3) Twnn of the X nx as explained by 1"
a) Xowp — "1 Rwe o1 k" where "Xw 1" means Xn»np XN

1) Now that we’ve established for the x5°0 of 'a xn*92 that 91°72 can mean 70>
as well as 2171 — in the xo°0 of &n>np Xn*>12 where the “vw refers to 111°72 but
doesn’t mention 2777 it ought to be a 10w 93 based on annnna 9y wwn Hva
that 113°72 means a n1w of qo> instead of a N1 w of 2n71 °1107 '2

NN'X T'N2 DA N AT NIvoIn A 770 "MT 0O T X'AIo

"D PR P97 AR RDT 710 B2 "D VR 7R T MNY 7057 NImana NI RN 7''N2
DR 257 P72 23007 RWOIT RAYY KT "10 00D DR 19770 11972 fDS A1 RO D)
N277 RAOR P72 27772 RDWOR RIPOWHR DT 27272 PIPTY WO 9oy "o am
1D 2777 DR R PUNI9T 27T 1D 12 27T M7 T 27T PITY PAT TR DT ROVD
P77 00D PPITY PPIT NOOW 00 RO TINED DA 1 B 't w'tan
120 977 RWIT2T WD O VW PNWN NOSAR [OD PR NI PPIITA NOD 30 D B2
190 792 RDI02 N7 DAN WNWK [ODAW 23 Y AN 270 105 PITA '2T wpnn
277 DWW RITOT 02 RRNT R''OR WNWM Al A77TaT 19D WNRR noDaw a3 By nN

TRTNTY PIIT RYTY PTA B "an mvnwns

N> N
vm‘?tzmn 19IR 1’?31‘7‘2/1‘1.‘( nMmw and

qo> >MTa 0D IrT'A | 0D PO PIrT A0 XN>°MP XN™27 XYM
702 "1°72 277 07 2 7°71°72 700 NNPRP RN*D27 KO0
277 71072 277 7 "2 277 7T PPIT AT '2 XN*>727 XU

mhiml 702 "M1°7 2 1°72°72 27 '2 RN™M727 RDWD

1) x"wonn
a) Nwp

i) At the same time as the & n3x asked the xwp of x»°X1 to the &5°0 of '2 Xn»12
and before the x1n3 realized the y12°n of »ax

i) Why didn’t the &7m3 also ask the reverse x>wp to the &9°0 of xn>»np Xn»2 —
namely

(11) Btaxizhi

(1) There are 77x3% two reasons why in the kw1 of &n»np &kn>>12 the n»w of
the mown is qo0 "7 "2

(a) 'x oyv — from the &5°0 of '2 k71 it’s ynwn that ano 7772 the word
"07" refers to Ao Sw T
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(b) "2 oyv — the "vw mentions 70>
iv) xwp of "knoxy"

(1) For the same reasons it’s 12anon that in the x5°0 of kn»np &n>>12 the 177 also
ought to be no>3 *11°7 '2 Mw a%wn — with the only difference that in the xwn
the n1mw is paid in the form of 70> *71°7 while in the x50 the nyw is paid
in the form of 702 NV

b) yyn that’s pmi72 and is contrary to "

i) The ywpn of XXy assumed that 1°72°72 means 271 both in &n>»p XN 2 and in
'2 Xn**12 — this explains

(1) why the ywpn accepted that in the x5°0 of xn»np &n>1a the Pm5wn are a
nrnw of 277 »71°7 2 even though the avw refers to 7>

(2) and why in the x5°0 of '2 &Xn>12 where the qvw mentions 271 the Jwpn asks
that it ought to be a 1ow %> that the m%wn is a nymw of 277 07 2

I'WN Q1 NN QYT NIDoINn

5197 192 N2 KD P21 N2 P2 MODR KD "D YRR IR 7T 10 WK 20 WK 7'
91197 192931905 BT 31 N2 RPAT R H'RD B'oy "1 29197 10T [OD Bar PIT
ST YRR KD 2 27T PR RDT IRTY N2 RDA [OD 1M19T7Y n0 AR 0D 15 PTT
KD 99 IR PRI TN KDY IRD AT LW "D M7 2w 77 KD 777 90 noD

TH''Y OIS 'DIN2 INTTAND IR

1) =wnn of the X3 — y1°n of *wX 27 to the X°wp of "n1 kw2577 °R"
a) The xw» of xn»np k12 refers to 111°7 oo that means A2
b) the xo°0 of Xn>>np ®n*92 refers to "1172 Hod" without a "y" that means 277

c) Further o°v1o of the Y10 of *wx 21 aren’t relevant for this X"wn

'3 X920
2own and
qo3 M7 "2 q02 PAPT PI1T O RN»HP RNMI2T XY™
277 77 "2 MW oD ['1 >93] ™72 70> RNMHP RNMI2T XD°D
2) X"wan
a) ToRw

1) Since the w1 and xo°0 of xn»np &kn»02 differ only in that the xw deals with
17107 and the xo°0 deals with 117 — why does the xn»92 need to say they
differ also in that in the x9°0 there’s a "2 (*72°72) and in the X" there’s no 2
(y17)

b) nawn

i) There needs to be a 'a in the 85°0 simply because ">11>7 102" is a phrase that
based on 177 has no meaning
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O9NT T'N2 NIYOIN

P07 2RIPH AR 10 29507 905 1B 1" 21 ARY 71T 101 J19PDR KD 0ENT 7''NA
IR PO IPTIT 2PN 11D AND PPINT IR 1D 27T MIIT 27T 028 IR "D T KM
"D Y AR D 923 P 1D DWW PUBT PR 7Y 1D MIT RTIP INIRDR "D Pwhan

TH'"™Y 11D 190737 2MDDD IR 2IPAT AT

o1 n"1Nn

NDTA 905 A9HD7 A"awNT RAYY X257 "D 230077 952 2''9Y 12w by 1o 0101 ' Ta
MY HTRD 5 RROND 72 LY RN 1TONY AR 1D R2PY "N "D NRDR M
DT PAYRR D 2" YaR WOM R2WY M 9272 A''HT 2w DY 0 Db

5=y qvEm P T2

A0 Q7T
'N 770 o'nyan A" Tn

RIT72 "0 29027 339095 ORI "2 RIATA ORI "D R w2 o avnyan '
22T WHWA PP TROW I® 9129 "D 1w 2'wND NINvsT 2''DY N0 1Ta 3 RpaD
D12 0''S 17TAYWR ARP INMR 'R 1P P79V KD QTR NIRRT 07 R R e Boy "o
NISTIN2 21 DY 29027 A2 P A W% 129 1797 90 2°9wan a2 P 2 nphw 7Y
PR W9 O AR 29020 22 PP T IR 'R MY D100 7 PIWRT TS ONRIM avwn

227 92 INTI RPN 29929 '22 P 2 Thea R

1) First nnTpn

v70 1/8 YR T 4 Y T Y2
yh0 1/16 TR T 2 X T Ya
yho 1/32 vWwo 1= T 1 ¥ 7 1/8

2) Second nnTpi —a jp consists of two m7>1o

3) Third 27p7 — a nT21 brings one 1p

4) Rx—"°nyana nToY v prp 1"

5) o"awn - o°nyan2 means that the price of one jp was 1°7 va11 — the same as 1/16 of a

Virie)
vo0 1/8 v T 4 X T Y
mmw'a—Ip vho 1/16 0T T 2 X T Yl
770 voo 1/32 T T 1 ¥ 7 1/8

6) °"wnin M2 noon at .o a7 says the X refers to two 1°p —"wn would be
consistent with o"aw= here if >"wA is 07 the word "o»nyaa" instead of "o nyaa" —
meaning two 11°7 *y217 instead of one 117 yan

7) moon as explained by x"wamn

42



a) The nvw of a>"w is a pm7 since the x7n) there deals with o7& nanw where one 3p
is enough — and if you answer that the 7wn deals with prices that aren’t relevant
to o7R N it’s still a Rowp

i) based on our X073 in MmooIN — that the mawn could have referred to the price of
three y1p as well

ii) based on the xo7x of v mooin — what difference would it make if 0»nyan
was the total price even for four or five y1°p

NX1 XX T'N2 "2 770 o'nyan YT nivoin

T "7 PPN "2 "2 2T 1972 I R 1D D NNR "2 290Y29 390737 SN KPR 7''Na
N7 5795Y2 INRW NIRVAT 2R YWD P T M M AR IR B R s B oy "
VP17 BUR 2"Y WOWD M 7T 2NN DD DYT TN PRI PV 7 AT D

TRy IR BTN WA TR TTOND TAID PN TR KRR AR P BoT My

1) First nnipn

0"awM %57 1777 XN o°yo0 2 a1 7 64 ME M7 8
iple) 7177 17 32 X T 4

V70 Y4 70T 7 8 SN 17

v70 1/8 v T 4 Y 0T Y2

m7I ' yoo 1/16 a1 T 2 MNE T Y

itab) yho 1/32 arT Tl 1% 07 1/8

2) Second nnTpi

a) the X3 in :m1 Xnv noon deals with a person who needs only one 77> and asks
(for a reason not relevant here) that 27w wx *nr '7 717N

b) armristhe same as a 77

3) mooin
a) First xowp

i) This implies that two m715 cost *17 '7 — and isn’t consistent with our 7271
here that a jp of two nm7> cost ¥ >y 117 (the same as 1/16 of a ¥%0) so that
one ;17°19 costs only 1/8 of a > 217

RAVT X0 1777 X0
o'y 2 0T M7 64 X M7 8
M7 2 -1p Y70 707 M7 32 X T 4
v0 Y4 a7 7 8 X T
yo0 1/8 T T 4 MY W Y
mP»2-—1p vo0 1/16 T M7 2 X T Y
hisab) vo0 1/32 AT T 1 ¥ 7 1/8

4) S"wann

a) We’ve established that the & n3 in &»y deals with a person who needs only one
77> S0 that the & na there says °11 "7 71720 for one 77599

b) It follows that the correct X012 in the first x>wp of m»oin is that
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i) The x7mx implies that two n7>95 cost *1r ' — this isn’t consistent with our 7777

here that a 17 of two m7°9 costs ¥4 *11x 1107 (the same as 1/16 of a ¥%0) so that
one ;17°79 costs only 1/8 of a > 717

X117 R0 17°7 X220

RO — M0 2 3P o°yho 2 0T T 64 X T 8
S"wnnT

ROY M0 2 -p b9irle) 0T 7 32 X T 4
177

yo0 Vs 7170 077 8 X T

vo0 1/8 0T T 4 X T Y

mTn2—1p vo0 1/16 7R M7 2 MY W Yo

770 vo0 1/32 AT T 1 1% 71°7 1/8

5)

Twni of mooin
a) y1nto the first xowp

i) The & na there refers to 71771 °71°7 and teaches that a j coSts 4 5257% 59157 S0
that a 7779 costs 2 7171 1T

R21°7 X720 1777 X220
RoB—mPe 23R o°yho 2 TR T 64 X T 8
Bllmnoas
ReB-MPI2 37 b3irle) TR 17 32 X T 4
7
y0 Y4 a7 7 8 I 107
mp2 -3 vh0 1/8 v T 4 X T Y
mTw2-—1p vo0 1/16 T T 2 X T Yl
hisab) vo0 1/32 AT T 1 ¥ 7 1/8
6) H"wann
a) Nwp

7)

8)

i)  Why does the x7n3 there deal with the cost of a 17 even though the x7n3 deals
with a person who needs only a 7719

b) v

i) The x7mxisn’t p>>7 and deals with the cost of a 3 even though only one 779
iS needed

R"wAn

a) Based on this y1°n by 5"wama himself there’s no need for the 77307 of 2"wann to
the first x>wp of mooin — instead nvown assumed in its first xwp that the X
wasn’t P71 and said 11 "7 1720 that’s the cost of a 3p even though it deals with a
person who needed and paid for only one 779

Twnn of mpoin
a) Second xwp

i) But four 7171 »1>7 are %2 >nx 1107 for a 3p which is 1/8 of a ¢ ¥%0 — not Y4
1% 7°7 or 1/16 of a >1x ¥90 as in our X730

b) 10 to the second x°wp
1) The X nx in X1 noon isn’t P»n

44



AN2INA N QXN T2 NIDOIN

YOO RO RPIT N2 NRUITD "5 NINMDT RN P52 1D WM2IAT 1 MRAT D' 7R
'R B"oy "o 2vPhR A 2901 T 2vRS "o 2vRITY

AN An%? D ox 2" TN

B B''oY 97 7 TAR2 JVOYIT NANX AN 7R 152 1720 "D 20 R 2R 7''Ta
TART RN ORPY X7 1D RAPY ORT "D Pran aRw 1ORYT 200 a0 2R 'R 0" AR)
QN7 2957 DDA B 91 12 190U AR 1AM 7R 2R 2100 11" 9paY "o pane
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1) nmawn at :nop A7

T 297 9 2ONRD (ININR AVW ROW) 70nAY 73 77Yn2 12 and
1NINT R

T DAX NI 20D XY ORW O DR 22 7Y 10 OX 07907 o3
10V 1M TP NN

TINANT 1 DAX MR 203 XY aRW 1179977 DR 192am1s 717 19 oX [ non3]
17097 10 T

2) Xn»2
21317 37 A2 7OV 1M NANNA T
3) mooin
a) For o»»on no

i) Although it’s 72anon that 11°%¥17 1 120NT T2 doesn’t apply where the 1179y
provides for o>nx» while the nnnn provides for man — it’s possible that a 17 %v2
might disagree

b) But for 1" noaa

i) The word pam> implies "ny» 12am>" — and it’s a Mwv*wd that persons aren’t
NYTH PPane an amount in 19y that’s different from the amount in 307N — SO
it’s clear that 2n> X% oxw in the 7awn applies only to o*myw such as *13m n
where we can accept that a person was ny7» am3 the word jar in 1%y instead
of »a1n

22X 0" TN 102 09T X'IN XNO0INA 2"an 2" TN

9799 79190 RIDIPY NIRRT 0% RO "D PINRNT 29YS RN XRNeowN2 ' ' Ta
JRRTD "D 'R NIND DY IR NANT T7ADY M1 MWD ORTIT RN B'oy o
NI YPIER T N2 BT IR PINANT TRADY aRIPLT NINR WPRAT RN NYRRa
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79997 IRDT RANR QW2 7PANST RADT KOR TRIT TOANKRD 0RR 9IRY A"'HT 2" awn
WP TR RRRDY 17D KPR RWITD STIONTR NRY SORT INWRD 11T 9
1D IR VAT IPRAR IR WA MWK W TI0RT TV 179D AR 237 DY NDoIN2
9127 1027 DN TERRRY D010 KDY NONR TWN 2w KUK NN DN TWN 2w PRY
52 PRITTR TINTD PR DAR WP R TR PITY PITY 7772 2" awns) neoIns

TH''™Y 11aN5W A5 RN PR 29N 22T

1) mwn
a) 171°07 KW 72921 ... Y MWK PRY 9D HY AR WIRD U3 PAMD
2) X
@) VA WORT QW 7POn KW 72727 ... 77900 RiPW 72721 °R)
b) xwp according to our Xo1x — "IR>TT RANKYD 177 S01AM1 2IRY KV 20D RADT I
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c) Xwp according the xo7x of 2"awA and MooIN — 727 IRPT RNNKRD 2N ’xHT VI
TR 7ibtay

d) yyn—must be that o>7v also need to be 7°on the name of the nwx

3) o"awn as explained by moown and X"wann — 0"awn isn’t 03 the words: % sunm 1R
T°RI7 °NN°RY — because the wwn of the X na is that if the 9910 isn’t 7°on the 7wk whose
Sy2 is am> the vx — Hva might arrange for the v to be written to "7x?" and he might
give the v3 to his wife whose name is %7 and who won’t realize that Sy is 1501
772 ROW PW? XWH 3007 a9pp°

4) mooin as explained by x"wAmn

a) Nwp to o"awn — to avoid the wwn that o"awn describes — it’s not enough that o°7y
be 7°5n the nwx and know her correct name — they also need to read the v3 to be
sure that the wva is written with the correct name of the nwx

Y'ND DY 2" TN
DR HoY "2 'Y 2R DT N20w "0 WINT aw 7' Ta

win'71 "1 nivoin "a 7n "Dn ka'w 1TA72T X0

IN INWR K22 ¥ W 7PANISR MR 112 NN FIRNM TV MART 2" "D 2Ry 7' T2
STV MDIDT N1D2 PRMINNT WYY AT B 'R B0y "D antIna PRINNT WYY KD
NI 27V NRNAT MR PPAY 12 N0 TV WO NYTY 29 I TR ORTY 7R0nnT

TP MYV W IRD 1797 KDY 2927 asa 7' nwyn

1) Twni of the X
a) Nwp

i) We ought to be wwn that — besides the "pwnw 32 0" who is directing a 7910
to write a va there’s another 7°va 1wnw 32 o with a wife who has the same
name as the wife of the first nvnw 32 Ao — and the first nyaw 12 Ho1 will give
the vi to the wife of the other

2) anTpnto a xwp of mooin
a) If >n15 7o 7y — the 77°0% *79 need to be 7°on both the wax and the nwan

b) If °n95 7enn 7y — it must be 121n 7o of the va who is the waan and who is the
nwan

3) Mmoo — Rwp
a) Two1 nan — in the 1% of the two nwnw 12 o

i) If >n75 0 o7y the va is 9109 because it’s not 1217 1°91 who is the w1 and
who is the nw=1n

ii) If >n93 7°0n »7v there’ll be no 1%pn because the 7 on > will confirm that the
first pynw 12 Ao is improperly being 201 a va to the wife of the second nov
N 12
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b) y»n

i) Actually °*n13 77701 79 — and the wwn is that 79°0n 7w will be 73w in a way
explained by maoin that’s not relevant to this X"w"mn

4) R"wan
a) Nwp
i)  Why does mooin assume that 7»°nm >7v won’t make a My
b) v
i) o7y nnenmis more of a 17 N2 awyn and as a result there’s less likelihood of a
nwo

Y'Y IND TN NIDOIN

757 01D 299 9% wan T KD I RY ORT 12 R2O9Y 920 wnw mD 7''Na
19X "D P PRW 20 2" AR P 0T TR awb

7'TANI 2T A 70 Mon X' 1TA%aT NIo

R NOI92 DY 29N PR 12 [oT W INWKR AR Pvsn 1K "D pornay 7'l
B''2s 'Oy "D PIYRY NWR KT NMDDY 1IARMY 1MAW IWRW K DaN 77 W nwN
INWR 2D PR 2TV VAR J2 N0V MR PRI RAT IT WORR 01 291w nvoInn
D7IP 725 ART RI7T INIUT MW WA KY AR 77 DY NWKR KRIT AR nubD NNt
12 [0V MY PAARY DY WASNT MW YRR MWK RIT NIMNDDR WA RY PRI

T PR
1) mmTpa

a) We’ve established that a 1910 needs to know the name "nwnw 32 o of the vk
and the name of the qwx

2) XM
a) xwp as explained by o"awn and 7w by "2

i) How does the 7910 in '& 2°¥ know that the true name of the am> is 32 no"
"NYnw — it’s possible that the name of the am> is really 2py> 12 12387 [or ynw
apy 12 — the mxo7n differ] and that he came from '2 9y and that in 'k 2°v he
called himself nynw 12 7o until people were p>1n that his name was 12 for
1w — and he’ll use the v3 to be "waan" the qwx of a Nynw 12 701 in 1190 Y

3) moon as explained by x"wamn
a) Nwp

1) Since based on the 7»7p the o>7v need to know the name of the nwx and that
she’s 2mai7 nwR — presumably they know the 7wx as "wnw 12 0 nwR" SO
there’s no room to be wwn that his true name is 218 or NyHY

b) v n
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i) They know the name of the nwx and that she’s the 257 nwR — Wnw K7 HaR"
NVAY 12 OV MW PRY YTV 19 ORY J2IRT NWR K277 DON2OW 1WARW 1MW XIT TR

4) R"wan
a) "0 of the yyn of mooin

1) The & nx means that there’s still a wwn that the person’s true name is j2187 or
nynw and if the 0°7v knew his true name they’d realize that he wasn’t truthful
in being 1 his name as Pynw 32 oY
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1)

2)

3)

4)

TP11N7Y 10 2912 Y9 RIS KD TONYTIN PO AR 2 7D IpW NIYY TNYTIR POOR
hSakkimin)

NR 17 12020 DOIR D101 00 1PR VW TAR VAR P17 RAW OO
plel7hl

mooin as explained by x"wann

a) If the 7om used ' qvw on day 1 to sell a npn to 12 — the replacement vw that
77 n°a writes on day 3 must be dated pwxn yam (day 1)

b) because it’s possible that on day 2 the npy? by 2 qvw resold the npn back to the
1om —and

i) if the replacement qvw is dated day 3 the n»> may later be 2pw» and claim
that with the replacement avw he repurchased the nip» on day 3 after he had
first resold the rpn to the 25w on day 2

i) while if the replacement ww is dated day 1 the n?12 won’t be able to claim
that the nvw affects the resale to the 721w that occurred later on day 2

Twnn of mooin — xowp of "nxp koM as explained by X"wamn

a) Where a 701 used ' quw on day 1 to sell a npn to np12 — it’s possible that the 1>
resold the riipn to the 251 with a 'a qvw that says & 72 *1p (where 17°k means ow
VN)

b) A -ww of v°x 7% °1p is often undated

c) Now — when 17 asks 17 n°2 to sign a replacement “w why aren’t we wwhn that
n12 on day 2 resold the nipn to 10 by a '2 "vw in the form of X 7% *1p — and
even if we give the n? a replacement ww that’s dated day 1 — it’s possible that
the 1> will be apwn and say that on day 1 he delivered the undated 'a 7w of °1p
X 72 to the 121 and that afterwards on day 1 the 2 with the replacement “ww
we wrote for him repurchased the i from the o

e 7ahial
a) xwp to the xowp of mooin

i) To ask its x*wp why does no01n need to assume that 1% didn’t actually
deliver the undated avw of ¥°x 7% map until day 2 — when msoin could ask
more simply that we ought to be wwin that the n1> actually resold the npn
back to the 121 on day 1 with a 'a qvw dated that date or with an undated “ww
"2 of YR T2 1P

b) v1nto explain the x*wp of mbdoIin

i) mooin accepts that we’re not wwnn that a npy? actually resold the nipn» to the
7o already on day 1 — our wwr is only that a resale might have happened
after day 1
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i) mooin asks that we ought to be wwn that if the resale was brought about on
the later day by an undated “vw of ¥x 9% m3p the n1> might be Jpw that the
resale happened on day 1

5) Twnia of mooin
a) 1> of the yyon by >

W R I P2 12w Y 2010 17 R R? O3 W R ORT 9"
"D 770m T ara

6) Twni of X"wAin — 7Ka of the yy°n of °"

a) A nm> would not likely think of the false nivv that there was a resale already on
day 1 —and even if he does think of this 7wt he wouldn’t have the 15 to present
it

INT 12 2IND |'X T"N2 NIS0IN
790 TIPY 11D NAND 72902 NRINR "D R R ROT "D 2" AR 327 12 2902 IR 7'N2
2N51 2R PaR "1 AR MIN AMawn 77 50 A" awnh wpn K9 "2 DRYERA 12 PrRw b

"D @RS BR N''RY DR I 10 DY KD 1B TR 10 IR AR 1w auw 1o
3R HRD "D IR 2R NOWY TR O nonw

0o 71
17 mappni TN NI9OIN

127 ROR 12 ONAR 777 ROIN2 IV 9D 000 70PN W IR 7UR2 [R TRy vop 0T
wRnh 27 R''P21 9OPD 12anow RON2 1A DR R RRo " AR o nEpy AT 2
"D 1M92% 1R "D ARYPR NIRRT DM TOAW MWW PR 2TV WO MVRT "D
TR RNWTT DR I KD 1T 28 19 I KPR 1190 1 AR KON ‘0w w'hes
2% T2 ADNT WY PRWOYR "D LW TAR 1NY MRY IR LW WY DR
TP MY W TRWY MARYNY 2ITYR TP VIR WL NI PO W O R awnw
R 7R 17907 KDY 297V 0T 1Y M7 KT XRP DD DaN TaNw Y avTyh
DARW 12 AR AR FT2TRT AP 12 N7 120 0T XY ARIR NI auwn

IPTITY ININ NP TARY DR TTIAR VRN 7D W Y9 1N 29TV 1L TARR RIT

1) First nnipn
a) Y IR PRY 9"YR T01Y 0w 1°2m3
2) HRO9MA 12 NYRY 1277 RN™O2

a) 17 AT I9INA 10MY 10937 DWW — 17 AN 12MI PR DY PN T0W TAR AR RAW 077
AR TN P 1 10w 1R

3) mooin
a) nww of "Rnp wrn"
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i) if a np1? returns his 77°0n qww to the 10w this results in npn nam and cancels
the 77°om — this applies even if the n1» retained extra signed copies of the “ow
that he had received from 201

i) a2 doesn’t need to bring o*7v that a "uw he holds came to him by 791 from
the np»

iii) if a P gives his 771°on qvw to Xnoy7 work this results in the sale of the npn by
n? to the XnHYT WK

b) nvw of "xn2 P

i) there is npn nn only if Y% returns to 15w every Tww that he had received
from o1

i) For nipn narn the 751 needs to bring o7y that a "vw he holds came to him by
77 from the

iii) there is a 77 01 by npY% to an X»2y7 Wk only if np12 gives to XnoY7 WK every
Tvw that the n» had received from 2o

4) moon
a) "X by xnp wies of the 70977 to the (oM

i) if we don’t give the n> a new “vw the 731 will prevail that the 1> was
211 to the 721 the ww that 231 now holds — we’ve established that for
Xnp w1s this applies even if the 751 doesn’t bring a°7y that the “vw came to
him by 77m1 from the 1

ii) but if we do write a new ww for np1% the np12> might be apwn» and say that — he
was never 7°1a a ow to the 1om — he (the np1?) still holds his old vw (which
in truth is the new vw we wrote for him) — and the =vw that 721 holds (which
in truth is the avw that np12> was i to the 1o1m) came to 121 under the 1°7 of
"Ry PR TPRY D DY AR 7217 0w 1Pamd"

b) T%°2 by &1n2a pay of the 7097 to the "o

i) if we don’t give the n?12 a new ww the 25w will prevail if — as required by
X7n2 1av — he brings o*7v that the 7w he holds came to him by 79117 from the
R

ii) but if we do write a new ww for n1% the iy will prevail — despite the o>y
that the qvw came to 121 by 77m from the n» — if P12 is Apwn and says that
the 121 had given to i1 the “vw that in truth we gave to 12 — so that the
n”1? didn’t return to the 25w all of the nmww that n1> says the 251 gave to
n”2 — and we’ve established for X1na 11y that there is a resale to 25w only if
nP17 returns to 15w every Tww the n1> received from 2o

iii) note that pim 1am> isn’t relevant to X702 11y because X2 11y assumes that
there are o°7y that the “vw that the 231 holds came to him by 771 from the
o

5) —Twni of mooin as explained by R"wann
a) Xwpto RIn2 Py
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i) Why can’t 17 n°2 write for np1% a replacement avw that recites that it’s a
replacement avw that was issued to npy? because nipy? claimed that »ow 728
and that he had no remaining maow

ii) This 977 will avoid 70917 to the 721 from a later claim by n since

(1) For us to be wwn that there was nipn N7 we must anyway assume that
15 will bring o7y that n1> returned the avw to 1om

(2) And once 751 has these o°7v there is proof that np1? was apwn when he
said »vw 7ax — and — since the replacement “vw recites that 7 n°2 wrote
the replacement quw and that n»1% said he had no remaining nvw — it’s
clear that the 2> gave to n1» only the “vw that o>7v say n1> later
returned to "om

6) Twniof X"waan

a) The xwp of MooIn doesn’t apply to Rnp w1s because for &np w170 the (01
doesn’t bring 0>7v that the 7uw he holds came to him by 791 from the npy% — it
follows that — even if we note on the replacement uw that the 1> said »*ww 7a8 —
the 121 will later be 77097 because n1? will argue that in fact »vw 72% and the
Tvw that 75w has was written for him under the 17 of a0

N NXpP1 T'N2 NIDOIN

NON2 710 90D 1 B B R0 o "D PRWRAT N7 T RN 1Y 00 TR NI 7''Na
TNIW A1 RITD S 10 IRIRR JNIR UWIT RIT IR 20TV (00 W RT ew M
BaR DNT T ROW VAR IWT MWW TP AT ROW I RADYT WIRD 0w NI
T2NID 21D RPITT 217 2R W 12ND0 RY RALYT WIRDT »''P RDT IRTI NP DD

'™y "1
1) =wnn of mooin — Xwp to XIn2a v

a) To explain why 2"awn holds that 7 n°2 doesn’t write a replacement 0w — why
doesn’t the X7na say that this is to avoid a 70971 to an XinHy7 WK — since

i) if 702 doesn’t give the npY% a qvw — the &n%v7 w R who holds a avw will
prevail if he brings o>7v that Y% gave him the ow

ii) but if 17 n°2 does write a quw for npY% (that doesn’t recite that it’s a
replacement avw) the n1» can prevail despite the o°7v if he’s qpwn and claims
that the 121 gave him the qvw — because of the rule for anx 11y that there is a
77 only if 1 gives to Xnoy7 work every uw the np12 had received from
p)la

2) X"wamn
a) ToRw

i) Why isn’t this a X>wp also for xnp x1w°2 — namely there is a possible 709:7 to an
Xnov7 worR from being am a new aww to npY? if np1 claims »Mvw 7ax

ii) because
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(1) if 7 n°2 doesn’t give the n1% a “vw the Xn%y7 w R who holds a avw will
prevail even if he doesn’t bring 0>7v that np1? gave him the ow

(2) but if 7 n°a does write a qvw for nP1? the 1> might be apwn and say that
(@) he never gave a "uw to Xn7yT WK

(b) > still holds his old avw (which in truth is the new “vw we wrote for
him)

(c) and the ~vw that xn%y7 wo2x holds (which in truth is really the quw that
n12 gave to him) came to &n%y7 woK under the 17 of 151 ann 1Pam>

b) nawn

i) There is no 17 of 1amn am> for an Xn%y7 WK
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AR RT3 2T ORP FI95PY 19 QORI SWIAIA PIT 29100 1 AISY SRNITT SIARDY AN
'2'Y7Y PITT NP "OINT PWD 1R 10 HRIWS ANIT PRY 2IPRI KPIT 200D PN

1) First nnipn
a) A 1w that has no o>7v at all is w2 if >n1> 701 »7w and is 909 if *na0 anonn 7w

b) There can be a 757 &1 who’s w>n for "1 72" where 19109 0079 sign — with
the result that quw is 2100 even if >na5 77°0n 7w

c) There can also be a &7 18%n who agrees with the prior 1nx7 8% except that the
oW is o if 2oy are anIn in a PN SRIYY PRY 2P

d) =rvox "1 holds that °no 7900 7w

e) a"awn says in our X°20 that °n1> anonn >7y and that as a result a 77°on "W that isn’t
signed by o>y is 2109

2) Second anTpn — "RMR *37" in P noon say that ArvoR "M 7597 for 1w but not for
MY IRY

3) Third 77pn — 8012 in 0% NOON
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AW DOWI WA IR [MDY IRW2] 179019 270 — 1Wwon R2PY
TRY QIR PIWD 12X AR IR IROR 12 YR 127 — [PwdT] o072y

M YRS

NNOY XY oW1 0% 'R Xbav
7 PIW ORI | 22N 007V X 7 PTW ORI | N0 277V IR
19101 TR NN M
ki) X7 70N Ty jap ) R 77700 V7Y RPY "
109 1 Ton Ty jap ) R 77°00 YTV jagalely]
12 YR 11
R A% 9X913
fa)[rlalakinli7ie}
ORI PRY
RN

4) mooin here
a) Nwp

i) By saying "pnmn R PRY 21902 PIwD 198 AR it’s 12non 71807 that 129
o%°%n3 12 Nwaw disagrees with o°non and holds that mnvw axw are also 1ws in
a Pamn YR PRY 217 because °n1a 77°on 7w and there is no 17 of 1012 Py
in a PnnIn YR PRY o1pn — this is contrary to our X7na that says 12 1wnw 120
5x°9m3 holds for 1on qvw that °n1a monn 7y

LY XY oW1 WA '3 Rbav
7 PTW ORI | N0 DTN 7 PTWORT | N0 YR
N2101 7 N9I0n 7N

7] XD 77°0n 7Y k1) X 70n 7Y X2py "

72100 =) 77°0n 7Y k) X7 7on 7Y jajamly]

R AR 19N b aul+) R STy akal7) X7 Ton 7Y 12 YRR 120

(Mmpw Nw) | 2'"p nwanne XM
A WD PRW 2pPa
LRI PRY RN DR

PN

b) yyvnof>"
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i) 9X°9n3 32 NYnw 127 agrees with *xk °3 who hold °naa 7von >y for puea but
not for mnvw axw — and our &0 deals with mavw Rw

MY IR W1 1) "3 Koaw
7 PTWY ORI | N0 DT OIPR 7 PTWORT | DD DTV PR
2900 MR 5101 MR
WD X7 77°0n Ty jaml7) N7 77700 7Y R2PY "
72100 = 77000 7Y oWwd N? 77001 1Y jayaliy}
™ 1P AWM T R?)] RSnn Ty jakali7e) N7 7700 Y 12 PR 120

Do NvRIp
BR T o
ARW) BN AR
Yo7 nuw
WS (320

[12nn

R

5) b of the qwni of mooin

T OMR ART 227 KR DY 29T [2Mn] 11277 RORT M0 PN

N7 77°07 7Y 21207 1D VWA onb

6) X"wann —x0a of the qwnn of msoin

a) X°wp as noted in bold in ' X%2v

i) The fact remains that x%>%23 12 1wnw 127 says "Pws 12x Ax" and 7780 this
means that he holds mavw “xw are 1 w3 contrary to 1121 who say that xw
MvY are 7109

b) yyn for*"1 based on >"wA in Pwx non

MY XY oW1 W 7 X9V
7 TIWI ORI | N0 DT IR ™7 TTW ORI | N0 DTV IR

N0 I 1NN R
WD X7 77700 7Y oW N? 7on 7Y RPY I
72100 =) 77°0n 7Y ja)igl'7e} X7 7701 Ty ]yl
109 =) Ton Ty | 9sb pIn PRIeD i RKARE] 12 AR 127
2pma N wpn IR
LR PRY D M oot
MmN 79 11277
20w w2
77100 WM T RY] ReNn 7Y jaknii7s) N7 ARKARE] 12 AR 12
[1>nn a7 0w SRR
T

i) Hx09m3 32 N 120 tells 1121 the following as in "7 &5%2v

(1) I'hold that mvw vw are 122109 because *n73 mnnn >y — while for oowi *v
0>72y * ) | hold that °nn5 77°0n »79 and they’re 2 w> in all nmpn
because I’m not wwn for 11nn o

(2) But you — who hold that >n5 7201 >7v also for maww axw and you still say
12109 based on 121n 7711 — why is it that you hold o>72y > oow: s
are Pw> in all cases — when instead you ought to hold 7105 except
possibly 1nmin SR PRY DpPn2

i) 9R09m3 12 MR 120 asks no Xwp to X2°py " because X2°py M isn’t won for a2
12301 whether for MY IRW or 2°72Y NN QW1 VA

7) R"wann
a) X"wann acknowledges that this mx°2 is a P17 because mooin for this xa —
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i)

i)

8) H"wann
a) Be mooin noan to add the words in bold

instead of saying >7v *1207 1°2 °wanR on? 1 [2°72Y TNIAWY QW1 *v°A] ONIR ART

"NA2 770N

mooin should have said X?X 2wonh oa i RY [2272 "N 2°w1 03] NIRRT

NI 77°07 YTV 37207 23 ¥ AR PRM PRI PRY 2pn2

B''D A1 NNV INWAT PRWRAT TARP WX AR [3''aw] X7 X1 PN
DM AT 2377 WARp Y 22957 [2°101] 11277 ROIRT D IR o
N2 777°0% 7Y 51207 119D PWwIRR anh U [MNuw RY ]

b) =, asin ' xLaw

LY XY oW1 ou% 17 Xbaw

7 PTW ORA | N0 DTV PR ™7 PTW ORA | N0 DTV PR

10nn R 19101 R

il7p) X7 77°0n 7Y )] N7 7on 7Y RPY I
7109 1 7°on Ty jagl7ja) ¥ 77°00 YTV jayalig]
mvme 12 mn R 7000 Ty jakinli7n} N7 7701 MY 12 RY 120
20w R AN Wpn IR0
ninen Wob R M oa7

TRY 2IpRa Mk Ao
RN BRI ML INwa
172109 WM T RY) snn Ty PRISD | 3w TR RY) meenmn Ty 12 RY 120
19107 7R [0 B WY 9903
st

i) moowin is nn from the nww of >3 because the words "o& Ax" imply 711837

i)

that %913 12 17wnw 327 refers to 1327 and asks that they ought to be 2>won more
than they are

Instead n1901n answers that 5x°9n31 12 wnaw 129 himself holds nao 7onn 7w
both for m vw “vw and for a>7ay » 0wy oow1 v and that both are 5100 — and
he tells 1327 that since they hold that o°w1 *v>) and o°72v *nw are WD
because they hold that °n> 201 >7v and at least for o>7ay * 1w o°w1 "v)
they’re not w>n for 13101 A1 — they ought to be 2 wan also mvw xR at least
TAM ORI PRY DIPn2

yp Q7
NIX 2"T0n"awn

B2 "1 RT7 93995 12 MR 2w 21007 10 MR RYN 17772 2" awsa [R Ty ¥ 7]

A

NaX " "7 anx a"T 0"awn 'K 770 1127 T Ko

297 7ORWR DIPY MRT 90 RAR MY DO "D DT 29 MR RaR M 5K ''7a
PRITT BN MATI RO RY 7O9Y 907 AR 9207 K2R 1TV 2TV IR TR

1) mnpn

TR PRY TR

57



a) If ayanicould be 721 by a mww (for example nya1) for which he needs no proof
but the yani adds a further nayv for example — “and the 11v7°5 was 17991 %2199 *192”

b) a"awn says 7122 X PR — 27 says 72b N
2) X

a) Xax " claimed that he had repaid a 211 to 7o 22 P> " in the presence of 1199
1991 — RMD1 PrX® M was P01 based on 27 that 712% 7°1¥ because RXax ' himself
had said that 21 also holds that 972% 7x

b) Xax " responded that 21 had said in another X7 that 3"awa5 7597 that 777% Px
pRRY)

3) H"wann and X"wonn
a) Nwp
i) Xax ' is Mo himself on the nvw of 27
4) yrn of R"wann

a) Nax " holds that 27 in his first X772 teaches the fv w of *21 — in his second X
he sets out his own ;oW

Y Q7
27 XX 2" TN "2 P70 1A% T Ko

7ATTRY "D QIR TOODY 1T RWT P77 10 712R KUK 71''72 nvown [2 Ty ¥R 0T
1> B2 K27 AR 12 IR MRPT IV NIPNAY P72 1D KUK MR KD 29 8 "0
5"y "2 2" 7P 2MRIN IR TP AR KD OR 15 1" 7Y Y20 MER 1R 29 PIoDTD
IR TS AR O DaAR WY mowR ROT PIYH KUK Y 10 D RY A B By
TIYD N1 RNIDTD 1202 9207 K2R R2T 927 2w 975 Ko7 'O DA A ' e
792% TORT MR KDY 277 KD 27779 1KY IR OR MNP RN 1''57 17T mown K97
17U IR AR 1R BT 2 a0 'Y ARED 97D aRIATY TR 10 MOWR IR KON

TH'"'PY 2PWD 27 YD KRR WY

1) mooIn — K2 by an 1021 of the fvw of ’nd1 prix® '

a) XNmo1 Py " was pow that 27 holds that the yani needs to be %12°w 7 %5 71an by
trying to find the o>7v but he’s not 7097 if he can’t find them — in short 9772 R oX
770977 K?

b) mooin initially assumed that an 11°27 must hold that the yana is 7097 if o7y come
and are 7yn that 0777192 ¥ X% — because otherwise what does the ¥21n gain by
insisting that the van1 try to be bring the o7

K97 1708 D77V 17V R
Q193 YO

R97 7130 7729 "¥n X9 X
12 mown

7 939127 1% v axa
510w

X191 prX> "
an 11°27 nowS

7°0577

79007 R

12

"

79097 R

7°0977 K27 19w 991

¥

A"awn

2) wnn of mooin as explained by R"wann
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a) Xwp to the nvw of on w20

i) X217 holds in 11°>77 nvaw P that "Ny TR IR? WOIRT YH¥ X171 K77 XN 93 and
7°0977 K?

b) First y17°n (this y17on is by the "yaw»n w" referred to in the next m2°7) — &2
follows the nv>w of 3"aw" that there’s no 21°1 to be 712» altogether

c) Second y1n

i) In fact based on the X120 of Xa1 if 0*7v come and are v that 0:7°192 ¥ X
the van1 isn’t 7091 even for *27 — but the yain still wants the vani to try to
bring the o>7v for two reasons

(1) First — onw >7° NRY?

(2) Second — because it’s possible that o7y will say that the yani wasn’t ¥719
at all -whether o192 or otherwise

XY At 7Y TNA A 77N a7 T Xaio

"D 92T 2RwR W N0 BN 7T RPN DR DD YRR "D TR T By 7''Na
12 19727 20awRT N7 PR oY "D KPT 9197 "o 7''RD IRy 1NN b
2N 7" RTINS M 1T RINR 112 20 AT awasT B9 DD 1anow 1Ry RIT

1)

2)

3)

5"y 3" awnD W' 1950 P
0"awn
a) Xno1pnye " says that 27 holds 10977 77°2 X9 oK

b) but note for xno1 prx> "1 that — based on X271 who says in 1°1°>77 nvaw 7o that 9>
PRYTR XD WOIRT DY Xm0 RDT RN —if the vani brings the o7y the yan1 isn’t 7097
if the o>7v are 7y that the ¥an1 wasn’t o7°192 ¥719

AR DTV 1TV OR R?7 P30 9722 %A R?OR | 90 937127 17 v oA X931 Prive M
07192 Y9 RYT 12 mown 510w 2"aw nuwy
7°0977 K 7097 12 27
79097 R 790971 X977 19w Hon x> A"awA

moaoin
a) Nwp to 0"awn

i) It’s not 12non that for yan1it’s ¥ if he doesn’t bring 27y than if o7y are 7v»
that om°192 ¥75 X5

b) yy°n of o»awn v referred to in the prior M2>7

i) Contrary to the v w of o"awn — x27 follows 2"aw= that 912% 7°7% PR ¥an1 so
it’s less of a xn127 that the yan1 isn’t 7097 if 0*7v are 7°vn that the yan1 wasn’t
D7°193 YD

Further qwni of mooin as explained by R"wann

a) nww 11 disagrees with 27 in 1727 ny1aw P and says that if o7y say ¥ X7
0192 the yaniis 1790 prmin and is 7091 even if he’s yawa that *nyno
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b) Note that it’s nevertheless possible that nww 27 agrees with 3"awn that 7% R
Rk,

n07n 'N N TN

1D RINT 279 MRPT 1D 2ITV2 WDR VINT 1D 70 PR 977 "0 100 PR 7'
SR 15 21121 XY AR 23w 98 BY AR 12 9P 707 297 20 1m3 297 10 9D 77 R
"ans K27 9aR "1 1A 297 2P "o mD papt arw PR T ww " awen IR
27927 M RN D' Doy "o PWNRD At 2wnh ne PR e 2y b
7''22 2% 297V 2 PANNRA TN 0207 297 1AM 207 7107 IRRY Rap 2%1nhT
TATR NI 7127 T 9292 110057 PIRT ARPY 27 3995 71T RIIRY ARP RPIT 1w 1A
"DINIT 12NSR RN TINOND AN O37 RITIA AW JATAT 27 77N 2TV DaAN NI PWNA
2TV ROTY R T 7T 711227 2R praia an °''7 R2W%K 299 7''0 1am 20T
TARP IRMD S'RT 2T R AW PATAT QITYR STTIA M1 20T 000 KDY 1w 1t I
PAOINRR TDNTD RIT PWRD JatAT7 30 B a1 722 RTT TN "D 797 IRT 20
QYT "7 TOT ORMD TN "7 70 27 299D 30727 RORY 19 NORT 2" KON Pl
D70 Y9ORT PATII 27 TARP RIINY 27 KD W AT DR 2TV N30 27 TRRP W (I
TR OPIDRY KON K2 KD 1RY DOW 7192 757 N7 VARD WK PATA 297TYAT RNON2 a0
MR AR AW JATR D N2ANDR KD 20TV PWRT JATRA VWOR T KD 'R 120 N
27239 7772 57ANRN DRI 0P 29D T RY 2972 AN 1T PRWRT JATA ART 00 DMW 17
355 3" WA WK NIIAT 121D N25W TR KD IR 1ATR I9IBRT 209 RN ORI
AR R QITY 9372 RY 3w 74T ORT '2 9D9Y 017 KD WK 112 29702 290 AN
121799199270 RDR 9 IR NIDTINT 97272 DA 1112207 TR T2 TV PP 12T

1) mwnT "M

a) 2 12 NP YW N
2) RXP™M273717° "M

a) WX 1AM IR MWW 1D 1AM MWW DR PYIpn o7y
3) X

a) 0w 2 PaMDY 0w PYIPD T A2 KR AIWAT AT M2 997 PR 27 MK RI1T 27 0K
TWRA 717 NR

b) 21977 M RNI2 KT 279 DY PRW OR K117 279 103 27 DY R
4) mooin —nxea of Xnp vI7°n as explained by X"wAan

a) From the words of 777> " in the mawn it’s not clear whether the qvw is written
TWR W AT OF RITRAT 1217 ("I 1ar")

b) 21 assumes as in 'k X722y that 777> " holds that the quw is written »xw yara whether
by 17 n°2 or by 2>7v — while 27 himself says that a qvw by 17 n°a is written 117
MR and a vw by o7y is written 1w
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c)

d)

27 MYLY XnP 71770 'R X9
o°7v2 77 012
17 te]ra) W AT a7 "
W e NWRY AT M
R 117 R 117 Xn°M2

1M1 27 says that had 27 known that the &n*»12 says the qvw by 17 n°a is written
1WA 1At and that this is what 77950 " intended — 27 would have agreed with
777 whose 17 would be the same as 27 both for 17 n°2 on pwx yar and for ooy
on "1 a7

X°wp to Xnp 17N

i) A mwn at .nop 77 says that "W 1m 0w 12 120D 17 1°2 1210 0w prnaw n"

i) How could 27 have misunderstood 737 " to say in our 7awn that 7"2 write the
new T only 1w

5) Further qwnn of maoin — XN2 1700 as explained by &"wann

a) 21 understood correctly as in 'a X2v that 777> ' says that 7"2 write wxn 1 the
same as the mawn for prini but thought myva that 770 ' holds that o*7v are 1°2m>
1w 11 — instead 27 held that a qvw isn’t written 2°7v2 at all because 21 holds
X720n that either a avw is written WA 1m or it’s not written at all

27 MYBLY XIN2 71790 "2 kDAY
o 7y2 77 n°22
SIW JRTR 122 PWNT JRTR 27NN
PRI
VW PAND PN YR T i}
e
NWRI 1217 NWR 1A17 XnN»2

b) 3mm1 27 says that if 21 had known that the xn»92 says that o>7va a “vw is written
1w 7 he would have understood that this is also the 9732 of 373> M as in
" X92v and he’d have agreed both with 7737 '3 and the xn>12 who say the same 1°7

2920 | 277 RIpOA '3 K7W

XIN2 Y1°nh

o 7y2 77 n°22
TR TR 10 WK 17 X"77°9% 07T
Prnla 277
PR TR YR 1T i}
NWRI 1A17 NWRI 1A17 Xn»2

6) X"wann

a) n°xw for xapa yrn
i) Isitawrn to suggest that 27 might have thought that 2>7v write no “vw

altogether

b) nawn

i) No - "wx brings a mv>w that 7557 says that o>7v write no 7uw altogether
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VTN T"N2 NI90IN
525057 12 9" ARP XM P''OD 1D MUY AW 02X RBAP DHIAT2 MRT YN 7''Na

BTN "D AR nYTH
KXY Q71
NnTo AN "NK XA

2"aw=sn 9D "2 UPPIIT AN 297 P27 NTD ' MR An [R Ty Ryp 07
“MBDIM

DTV XX n"T NnIoIn
BY 12 71957 90 MY PRT 11D RNNBN SaANST DapnnT XA 00 "D 297V KROK 71''72 'O

TH''xD "2 RPAPYA 20 AN "D PIWRA 1t 77 0 3T
XY Q71
NIT'XNl XNaAa

NT2D 93057 STING SV JI2NDT 957 J9TAVR KDT RITNRT B3 [2 7MY RYP 07
RT3 701 'R 15 N2

"9 INT N AT NnIvoIn

B3y 2R MPOIN2 7' oY "D 215 PSR 1T XA "5 B'RT 02 7''7a 'oIn
NIVWTY PNSMW PR B PSR 2R PN IERY 'oIna b1 mpwyy BT
2972 RAN2 ' 777 9202 2"V 12 79a1Ta KD U7 XYL 7T 92 21050 Msw 2vewh
9Py RIED

AV Q7T

22 7Y QNI Xna

RO7 5093 2''RI2Y 1" S9owa 991 199 T901RT 23 DY ORI KA [R Ty 2vp n7]
:2"117Y DTN ST POV RIPSWD S1nn RDT 9997 9

DY XYY mwn
TH''RD 10 owT WY INWY mawnaa
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IN'VUT 'N 2" T NIDOIN

MPIDRD BT RN AR DR B oY "o NMIMPRST 237V NYTR "D MW7 OR 772 'on
YAY PR PRR 9D DY AR 210 WW PaAnID 1IWT KU 2R NYTH ANl XY ON
SP'TY MIMPSY RTI0D ROORY RNMIPRD BN “5n2) pnb 210 NS PN

AV 71
7' 2" TN

"1 RINT 27 MRT RUT 2 KT IVONRY PWD 2% UK 0% 17'72 [2 Ty 2vp 7]
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A3

NOn 7ax A" T nivoin

N2 199DRY "D R TR KD 79057 0 RITIR DRARKAT %1 DA "D RO Dan 1''7a
71922 YT 1D AR KON 21T TIRNT RDY 720 pR1T KDY 1TOR PRIT "D RNMIPN
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NINT XN NIX AT DI - 1T a7 a"1n

7' D' ARY 70N RIDI2 MR WY 1D MaNRT 9997 9 Tab "D T v 1''Ta
SOAT 32 7O B'op 7T RDA 7T OPRIZINT RNN2Y "D PRI "D NUINT N7 NN
"IN JIWR TAT ODIY MMARPT IND ORT 2''I7 NIDOINT vM2T WDl AR ''whnn
By 19D MDDINT PHD SNINT QIR MIDDINDY DOT T2 0T POYT T "D Naa
RNIM2RY IR X2 'INMY RN T 90D DR "D ROINT N7 KUK ;7'An
MR WD ROWPT 22T WNDD BN A Doy wRATR 'Y RO T DY T PRIRINT
N22 INRY RN MRPTD JPWSN TNT TODIY IND RAPIRD RNRT RO WPR
N7 PPNOINMRR /DY TIDT RN Y T PRIZIAT IAPDT RNMAR YR IR
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1) nnTpn
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2)

3)

4)

5)

a) First 798w

i) If 2°ya there are two nwnw 32 Ao and the first holds a 217 7w payable by o
"NYnw 12 to "Nynw 12 qon" — can the first waw 12 Ao be ¥y21n from the second
— in other words is the 17 that "a1 %v a1 PRoXI PR" because 7m17 7197015 10w n
namely that a "uw that was 911 from one Pynw 2 nor was found by another
YRY 12 q0P

b) Second noxw

i) If one nvnw 32 Ao holds a "vw payable to "nwnw 12 0" by a third person
whose name isn’t Pynw 12 A0 — can the Pynw 12 o1 who holds the ww be
yan from the third person — in other words is the 17 that "> nx v PRoxw PR"
because 7n7 77°01% 1Wn

c) mawn in the mawn and two mn»Aa

R oy an a1y
OOR DY PRI | AT 9Y AT PROYM TR N
DY PRI PR |79 T PRXM PR 'R RN
N
oK Y PROXIN 19V T PROXM '3 XN™A2

Rapiab}
a) ax and 121 both hold that 7177 7%°91% J1°w>»n R
Twni of the Xm — xowp

TROXIA PR 0 AT DY 1 PR PRY awd ['R RN°122] ROINT KT ROX)
*399°1P RN DOINR 7Y

mooin for the ko of H"wAnn

X721 ARWII2 PRI PNPINM W 7T A2°01% N0 RUINT RO 9N
7T 892 7 RN

2"y — K2 of mooin
a) Mmooin is woon that the x7mx asks that

i) If we had said that the mawn that says 0°7nR v X and '} &n>>92 that says
0°InR O¥ PROXIM 1R both hold that r77 7%°91% 1°w°n1 contrary to 727 and »ax —
we could explain the difference between the 7wn and ') &n>»12 this way

(1) in the mwn the MY can’t be M7 either Nynw 12 Ao because axw 2 PR —
each nwnw 12 "o permits the other to be 721 so qwo1 7an they can be 721
with the qow

(2) While in '& ®n>>72 there is no 1xwn;1 and they seek to be &% separately
"71 &2 71" — and that’s why the m?> is 7m7 the ¥21n who has the avw by
claiming that there was 7n7 7%°01 and the ynw 32 no who is the ¥21n
found the vw after it fell from the other waw 12 7o — and the Mm% is im7
the other nwnw 12 o1 by saying 7w "nx

ii) But if 727 and »ax are correct that 7n7 79017 1w n XY it’s a X'wp why Xn»12
'R Says 22N 7Y RN PR
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6) X"wan —xwp to the nww of H"wann

a) 1907 11 1on Py — there are no words in MooIn that suggest that moown explains
the x°wp of the x7n3 to 727 and »ax

7) qwniof X"waan
a) 7w of mooin based on the Xo7x of 2w MooIN

IRWIT PRI PRCANAY JPWIR AT 7729019 19 OX 1D R°INT R OROX
RIT°3 77 2V 737 PROXINA RN

b) =2 of moon as understood by R"wann

1) mMdon doesn’t mean to explain the X*wp of the k13 to 727 and 2k — instead
moon asks why the xan3 assumes that it must be that the 7aw» and 'k ®n**12
are p7nn on whether n7 7%9°01% 11w n — when it’s possible both hold that
717 71979317 1w and there’s no npY?nn because the mawn deals with 1Pxa
7RwI72 and 'R ®n°o1a deals with where axwna2 182 R

i) Mmoo then notes that its °wp doesn’t apply to a later assumption by the X7
that the mawn that says i1 %v 71 o PR must hold that jw>n 777 79°01% and
'2 xn>>12 that says a1 2y 71 1PX&°xm must hold that n7 79°01% 12w 1 X5 since the
concept of nxwn7 doesn’t apply to 11 9 a7 PR¥I Where one 1ynaw 12 nov
wants to be x>z from the other

AV QT
NOAI 2T nIvoIn
By By 'y9 900 AN 91T 'Ba e T°9%2 NOM a''7a [N TP AVP 1'17]

AT v Ny 2" 1N

DAY N2 7MY RURD RO 1D WM MY ORTIT 23 BY N "D R 1w ''7a
t2'17Y 39 2R IR B

Ayp 71
‘D "on 2" T NIDOoIN

Y20 R'757 "1 7922 nOwsTS "D 3 YD 91997 "o vmen 1''Ta [2 Ty vp 0T
PYD PRH KDY IR PRS2 DR 301 7R D PRY DT 1 KDY 19 hnn mbn
SR Y PR R oY "o

AT
10017 N
12" awNDR RN 191 1''N2 7' 10 wanT mpn mBT 2010 "B [R TRy TYR 07
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IM'YTI?T Mmpn 2" T NI9oIN ‘X 770 'MIN'A n 'MaaT XAIo

IR TARY DWW MR "D 29021 9 PR 2R NRTIT 10 WdYTIVT wpn 772 'on
NVIMWD R 27927 921 H'E0Y 700 Doy MY oww 7Y "D AT ar B aven:
2" 2wm% HaR YOTAT TV 2N MAND D127 19K A1 LW MYRaT ND0INA (AR 3"
MOTT DD 29051 0 RITT 29Y5T 17 Y51 19N LW DR 27UR 291N N1aXD 2T

1)

2)

3)

4)

5)

TPy @A AN
First 7a7pn

a) Except for an 192p 29w — a m%n can generally be 721 from an 27y only if 2°031 X
moo

b) A case where m% >nn> were 0°021 w1 that a m%» can’t be 721 until °273 *5% counts
as m>% 0’021 PX

Rlah
a) npYorn of X995 21 and ywre 297 12 X1 20 on My 0 from oowp oveine

D727 °1D7 DPILP PRI A TP N2

" o"awA
79 DY mPn3 P2 0wa 2 79 By mon w2 M
TI¥A T°AYO7 °12 IR 70T P PR MNP P PR X170 A x99 21

A 7°29°1 912 IRY
1171 M¥n

1T MR TAVR 212 MNT PV "33 °MN°T PN X1 PAR | KT A0
T30 POBNK X MMY KDTA | 111 YA Ty Mne kT2 | 217 M2
AT 2N % RPT2 | A0 0ONKR MY LAY

7730 “DONK ¥ TN Y

777 2°nwd

b) X723 — " rynoT onpn" an 27y paid off a ax1oa that the won to the oomine
owed to his mon

mooIn at rymeT A"y
a) moon assumes that the 2 of the m? to the mPn was a qvwa Mo,
Twnan of mooin

a) If the 27w had been ¥>71n the omin> before he paid the mo» it's possible that the
o°'mn> would voluntarily have paid the 211 themselves — but if the omin° refused —
then for > the 7791 would have been ;7211 from the 27w based on the 777 that a mon
can be 721 from an 29y where 7195 o°021 7R — because this case counts as 2°021 1°X
m>> for 895 27 whether or not 771 2>°1 and for ywi 297 12’117 27 if 770 200 PR

X"

a) But note that for o"aw if the om0 had refused the qvwa 779 couldn’t have been
7213 from the 27w because the case counts as 77195 o°o021 w° for X5 27 whether or
not 77 21 and for Ywi° 297 "2 ’10 20 if 770 200
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12 AND OXI A" T NISOIN A 77N '!MIN'A N ""aaT N1AIo

2IRT NIWINDTD WADMAY 1T 2MRa 70 N 7' 095 391 N2 92 ans any ''Ta
"7 YPIDRYY 2'awNDsY KR 29MDD DO TR AMAWaA BT P B'oy '
SRT T 2MMWA 770 NS 77T 9D A'HT nRapnT 9T Anowa MIPRT AP 1answ
AP NIDDINT WA RY RO WD ROOWT RINT 299 RIOI T 20T PR 01
TN 29772 AR IOIRT A1 WADR RATT B "D 2WRT DTD WD 1T 0 120N
723 RY RAR W7 797 RV IRD ORT "2 299KR7 D7 anPapn 09 ansT vl wa

TP BOUR ToINT W D unn mvnn

SH7A7 °1D7 DPILP PRI A TP N2
) a"awn
79 DY m71n3 12 0wa 2 79 %y aon WA MY
18R 7027 012 IRD AN°T PN PR AT PN PR R 7720 XDD 21
17737 T2Y7 °33 IR
1711 718N
1 XA TV 212 AN°T PN %12 90077 PN R 720 X172
730 "0BNR MY WM RIHDTA | W10 XN TN 7 X972 | 2172
a7 2Mwa 7 X792 | 1130 MODNR X Yo
7130 “0ONKR 7Y 7% 20w
777 2w

1) First nn7pn — review the muw in the table for x99 27 and ywin° 277 92 8117 21 both
for muwa m>n and 79 Sy M

2) Second 1n7pi — The 211 of a m> to be %97 an 27y who had paid off the m%» counts
asano oy mm

3) xp™M32

a) 1721 7M1 °N22PNT 12 20D ORY 7213 K 170 DANKD RED 20 0w w20

b) For o"awn the xn*12 means that the mY» wrote 29v77 11 °n%2pnn on the 217 Tww
4) xma

a) 1w° of the xwp of "xnwa" per the xox of o"awn

XDD 277 XOX 7710 2031 7% DRown YW 277 02 X119 2% Xabwa
Xwp

5) mooin
a) xwp for v 297 M2 X102
i) Since n7m 21 why is it relevant that the 7% wrote *nbapni
b) v n

i) °n%apnn makes the 1o of the 27y more o°9x) because otherwise o»n° can claim
that the 29y wasn’t y79 the 211 of the m°>

6) Twna of the X3 — y17°n to the X°wp of "xnowa" to koo 27

a) the m%n wrote >n>apni on his 21 qvw to make the n> of the 27w as o°9x as if his
27 was a Towa mon where x99 21 for 0"awn says 12
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7) Twnn of mooin

a) "KW MAT DN 2MRT NOWINDTS WADRY TN 270w 12 NNOwH PRI 13927 073 1"
8) XR"wann

a) Mmoo here refers

i) to the earlier x>wp of m»oIn to ¥y 277 12 X117 27 on why *n%apni is relevant
given that "2 agrees to the X0 of the x7na that "n7m 2nwa 7% nnown"

ii) and to the yyn of mooin that *n%2pni makes the 29y more o°ox because
otherwise the omn° can claim that the 27y wasn’t ¥y the 2 of the 7%

9) nww of "
a) Unlike n" —>"9isn’t 071 the words "7 20w 7% nnown"

b) "n%apni 2 2°n57" in the k12 means the m> gave a "wuw to the 27w in which the
M5 wrote °n%apni

c) The xma explains that the xn>>n2 isn’t a X*wp to ¥y 277 72 X117 27 even though
77 271 1R because there is no wwn of *37x where the m» wrote °n%apni to the
Y

d) Further ov7» of the v w of > aren’t relevant to this X"w-mn
D'NIN'A DIY T'N2 NIDOIN
H'eo H''op "> Rrbwa av '™ 2Nt 2w T''R2
N'Ui TIVI T"N2 NI90IN 'a p7n 'min' n ""aaT X1Io

"D AR YUDR WNPD PIYIWT 10 17D DY mbna onR IPInT 1190 XWR T 7'Ra
979N YND AR TROMAY RDWT 1TV 29772 WTVNDR IPINT RAINT RWIP R 9''op
TP'IITY 2R WYY 2IURAY TINM TR 912 IRDT RRAPY TURON

9727 2199 DPILP PRI A TP N2
" o"awA
79 HY m71n3 P2 0wa 2 79 By mon w2 M
187 77237 032 IR? AT PR PR NPT 1A PR X177 PR XD 27
171 7°2¥°1 912 1R
1711 718N
1772°3 7% TAYOR 012 AN°T AN %12 %07 PR RPTA P2 | RNT N
7130 DODNR MI% MY RDHTA | NI MED TAYN 7 R | 2172
a7 2Mwa 7 827972 | 1130 MODNR X v
7130 DBNXR 77X 7% 20w
77 2nwa

1) mooin

a) X°wp to the quow of o"awn that X955 27 says 11 M¥A 7237 12187 "0 only for mon
ooy

b) wah rww — even to 0¥ — all nuavw that their w1 could have been 91w — and
since the 7w of *ny1o would have been available to the w>1 on a9 %y v —
why does 955 27 need to rely on 131 mgn 72v°1 %12 W5 N
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2) R"wann
a) xwp on the x°wp of m»voIn

i) See from the table that the np12rn between x99 27 and ywi° 277 P12 XN 270N
79 9y m>n applies only where 771 21 that he had made no 1o

b) y1vn—"aw»H v

Ty Q7
nYR Inmi T8 T 270 'inta n AT Xalo

WADY W 7'M DD pRwa 12 PR "D 1 0B R un 7R2 [2 7Y YR 0T
290 2N ML WRBw ' hy awpT RN na e B''oy "2 v v w1k nep
DARR PAYARA M NPT 2 PWH 23 12 12 20D aNY WRP NNDDIN2Y nbapn’
IR NI MDRD 29Y7 YIDWD MPRAR Y97 JNIR LW ININAW YRWRT 7' wne
12 WD MR W 2YD 9T IR RIPIPRT VDD DaR SNLaAPNT 12 200 2P W

J5'" ™y anbaPnT 1D ans aRY 9197 2R

1) Twni of mooin

a) We established for >"1 that *n2pni in the Xn»22 means that the m? at the time of
the initial nX1%7 wrote a separate qvw to the 27w in which the 7% said ">n%apnn" to
the 29y

b) xwp
i) Xnoown use the same N as the xn»92 except that instead of saying an> oxY"

">n%3pni as in the Xn*>12 — kNooIN says "n?2apna n''wa 12 200 oY

i) The words of xnson support the w>w of "1 that it’s the n"va (the m>n) who
writes *n22pni not the M7 in a separate Tvw to the 27w

c) The yyn of mooin isn’t relevant here
2) X"wan

a) It’s also a xwp to >" that the xnoon uses the word 12 (in the original avw) instead
of 17 (to the 27w in a separate qvw)

n"an 7ax T"N2 D P70 "aIna n 'maaT Ko

1D ROR 22 710 HY mPRa 10 IR MART R 9 J0ap "D M n''an Ban 7''Na
23 770100 BOBT PIDD "D TINR MART R TR R PR 2727 2oy "D 1900 R
SBUbYRA KT 1D MYPIR INWI KOW 21702 715 DY TI9NR2 119777 1answ avnaTa nwp
17''ab 37aUNwn KD MANT SHUDWNAT 21TAR 19IDNR J195790 RY 0w DR WWIBR N7
STODDNN MR MR RINT 27 D' 7T D2 2w DT PWHY wwa mvna e B9
T2V K27 POD T2 007 "D K20 PO 1971 N0 2NUR 2TIwA 290 021D PRt 0o
12 IND 2IWPY 2T°AR 27 YIS 2ORINNT DY IR KA MRT R P ann b
KD 7P0UDYR P9 2TIARR INWI "D KRR 2I191R2Y 71D DY TIRR2 1T AT IR Tayn
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WInD ROWWT RDITT "7 77902 R1NT 270 2R MOWT POOR RNWT 9oy "D jpn
IR NPAPY ART RiT 1T0 ROWP 2OV 20NN ON 77218 RIVTA 7171 299772 PIAD MRS
72397 912 IRDT ORTY RIT 2O1UPR 7215 ONMAN IR 20 KUK 1IRT 71901 1D 290 by
DN RIT RVRIPY IR KON T KD 71D DY 7197 1399777 9" DT 1N RN W70 RN
DIVPR AR T2IXT MWW DR RO AT IR TAYOR 12 INDT VPR 7213 WINRT
T99ER N2 PTANMD MIPPOR INWI KPR 23PnR2 DAk Ypapa 77 9OT7 21 1an2) R1TR
SANZR 21 DTAVNWR KD N7 DUHLUAT 2R 2IITIY 1IDR J19DD R R IR
2O '3 27IMAT RNWITT 2177221 1791 '0IN2 9D 10 1IN KPR 21pnaY 2N aa

P1I7Y M2 Y ORI 9DANA RNDX R KUK DIWDTIR IRP RDT 1077 272

1) Twnn of the X
YWIT 297 N2 R 270 RNOYA
2) Twni of mooin

DY M9R2 1107 0" WD 1PAR N2 $I197 PN DY TINn AKRT R
"nH 103 R POULLA OX 93 11°ARD MYPIP 1IRWI ROW 0pn2Y D
29172 17 OR 19°9R 10 MY

3) X"wann
a) First xwp

i) To what earlier part of this m»oin does "nax7 k" refer — after all the issue of
1oubun has nothing to do with the meaning of *n%apni that nvoIn was
discussing to this point

b) Second x*wp

i) The words of moown suggest that quwa 7797 is 72w from 5501 — but we know
that there is no "ax of Pov%un even from o°9173 om0 and even for a qvwa Mo»

c) y™n
i) Read this part of mooin as if it had two o°pon
(1) Part 1 "539 5y m%n2 910077 0" WD AR N1 V190 PRInca by mnn nRT kM

(2) Part 2 12 72y nn°? 1299°°0 XY PHU2UN OR °3 11PN MYPIR 1IRW Xow 21pn”
"099172 1977 OX 12°DR

d) And explain msoin this way based on *>77%:
i) part 1 isn’ta qwnn to the pav of "n%3pna" — instead it’s a R3pon by °"1 that

(1) the n5%: that follows ywy e 277 12 81377 21 deals with qvwa 779 that’s 721
X171 where there’s no 7% wwn

(2) and nrao elsewhere that say 172°1 %7 7237 °32 IR 0% MY 20 %92 NYID
deal with 739 5y mon

ii) '2ponis a “wo1 o182 Xn°» and that’s why it begins with "01pn21" and not with
"mpna" —and in it Mmoo adds that these o°17 apply only to ¥p7p — and that
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where there is no ¥pap there is No X177 21°17 or M¥n 781 — for 27173 PN’ as
well as ov1vp PmIn° — and for Avwa mbn as well as 7o 5y mon

2YNn 12 n"T1n

>""N2Y D' oY ORI TAYWRAT KT2 250 RAR2 % A awnT Nty o anyn ta 't
R? SRR NIBSINT 272 P 23 Do AT Sinnn D K97 MInb 7avm 1'an
NISTIN2 Y MITARORY 79 STUTT 0901 31 2WNT PPRYARWT RAP PINND 1N0INR MmN

:H'"mY 7712 2N AW D2

1) an7pa — R XOpw of the X

a) A nr7 I8 holds for 721027 29w that X2 5¥2% % 0% °Kk 27w 72vnwn 522 B2 PR K"
"7avnwn

b) ®wp —inan x72w of ¥y 12 7wn it’s vawn that »ax holds that 72327 29w is 7avwn
“wo1 even where 5ya% % n°

C) 11°n—in the X72w either 7 7NwsK 3"nXY 27w AwyIws 2 M — or H¥a was 12 of the
29y and w1 72vwn X172 0237 KA

2) xipon of the & — 2%
a) 72007 27V isn’t wol 7avwn even if " X
3) mwn
a) 1"awn holds that 721057 29w is “wo1 72vwn even where % n
4) moon
a) Nwp —how is the 7597 consistent with HX°%n3 12 1wnw 127 in the mawn

5) 1"x7in mooin mentioned by R"w1n —~Why didn’t the X3 itself ask that the 72%7 isn’t
consistent with the mawn

6) Twnn of maoin
a) y1nto the Xowp of MooIN — HR°%1A 12 NWwnw 127 in the 7awn deals with 872 22357 Xak
7) R"wAnn

a) mooin could also have answered that 2"awn in the mawn deals with where % mn
NTNWOR

N L
NXmwi a1 a"1n
H'"op DR N0 RN MWK PR 1o RN 11D DRI 271 772 [R TR vp 0]

D'IZNT Xn 2" TN

2INPT 1D 1DIMWONR ATRIST ' "D 2IMINT 2N P52 wABRTS "D aNpnT R '
RS R D RN PO WP "D Jup Praw: bar "o
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D'I7n X777 XN A" TN

R N2 91 K72 10 1R RUTR AR 29MPR KD ORT "D anpn XOT R '
RPN RIT PIIDT KA WD ART TORPRT 1N MWINA RTA LMD H oy "0 yawn
RI7 D107 N3 RDY 2MPR2 1ARIT MIWPRY 27 W RIpWRY 10 MR yhawnh

TP 9D MR ARy ROun

X Th 2" Th

TIA02 MIOYATD SYR ININD DTR MR INDT 199 27TIP NYID "1 MR N0 7'
TR KD 19% 2TIP ONYIDR DTR YNMOTIR 5T R 5D By "D NN IR MRPT
RNWTT 2R 1N RIPOYA NMR KD 7WRAT 0T YW TNIND 15TH DTN WD
SR ARPT TR0 RFISATS IR ONYIDY W 2977 NIRW NARD DTH MNDIR YW NN
AR AR MWDR 77197 1D YIIN FOPIDT PAR 20 OYIDT SN AR DY 11777 10 7NN

TPINTY TR PR DR DTN RRDT AT DM 10 N2

1) Xy — 'R XM

TIAR1 PNYID RAR VAR T 1IN 1IARY 702 211907 731 ARY YR 200w
92771 "DTR NV 2R

2) R —"a R

TR ONYID RAR VARY T PRINY AR 21997 730 1N MRW YN 20w
1N MR 77 R? PYIOT ROOR ORT 1°I0KR1

3) Mmoo — R0 of the Rk
a) If the vn 20w said >71°2 °1199% man

1) pmn are believed that the ¥y7 2°5w later said “I now remember that I had paid
already” — because we accept that 257 71378 W87 - meaning that nyw 7nxa
when the ¥y n 220w said ">7°2 *1%9% 7" he had not remembered that he had
paid the 211 — but later (after 7vw nIX) 92798 157K that he had paid

ii) But if the ¥y 225w said *11997 73 1N

(1) We don’t accept the possibility that ¥ 2°5w forgot that he had already
paid and later said that afterwards he remembered that he had already paid

(2) Because 225 "y197 "n°} or he wouldn’t have been so decisive as to say 1n
4) R"wamn
a) ToRw
i) Why does m»oin emphasize that
(1) nyw nmRa means “when the ¥ 220w said >7°2 "1H05 7"
(2) at that time "157°% 719X W?"
(3) and the words ""y157 &8n°R oX" mean 923 “y157 XK OR"
b) nmawn
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i) mooin wants to avoid the 72n that omin° say that the vy 200w later told them
that nyw nmxa when he was 157°R 157X (that »7°2 °11%9% n11n) he went ahead
and paid the 27 himself

C) TOoRW
i) Why in fact doesn’t the &3 follow this 7271
d) mawn

i) For this 9%nn there’s no X120 to give the omin> less manxa if the vy 200w said
1N

[n "7 Inx T'N2 nIDOIN

12 1D IR UPID WD PRIDY "D MWD TP 1NN D wTIn BUR MRS I 5N T''R2
21T PPIPT 2R "D RO JIOWRTS 2 MR ONYID 1D AR 2N NOPY MR aph
TR "D M1 95T RIT 2TV 21PMRa "D une

Vi 122 2" T 09T 121 — yIn ADY MaT A" T NIDoIN

2 TInya

MOR RDP7 2% "D DR M9RT 7'172Y 10 NRw v phna BOphT 1o a''ow maT ' Ta
7''057 INDAR AN "D 2PYS VT WP RAVNRT RTEYW 7R 2"'ARY 7o
By 1D YRR IO ONTT 23 DY AR 1D W PR NMIYR 123 19 WO YRR 128 7' ' Y
YRR 37 IRD 2" YPAR 109 90T RONITT "D 1M WONT 23 By aR D' By

TH'"HY RNMMINT RTI2YRWT 2 IND R NIVA 1237 951 19 WY IRARY PN Paw

See "7 NMaan

-nyp 71
NN X2JN Xna
‘B'ED 1D 2NT 1927 MR RIN KA [2 7MY 7P 0]

DN AT AT

IN 7210 10 RAW RO R O1RT 1D RV KA P20 "D 770 127 772 'O
1H'RD 12 INRWT YW KOWAT 10 30D 92T TIaYwaT "D 2nont ypnp

'wArn n X7 2T nisoin

JIOPODT 779N 12 ROV KD 779500 HYT RROWARM 9IDN 77919 ;7010 KD "D 2 KD 7' 7a
INDR P''an uwaT ORIED 'Y 'R "D PN INWYR 310 KPR ani T "o
DIMIPDRY 291N T2IDRT RPN 710197 RY 90D 9RPT N7 ORP RDT RPN 1720 917 9P N15N

TNIDTIND WYY IPINIBR IRWYWD 7127 12A

1) X7 here
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a) MMmPP IR K PWIPT M 1723 30 Y mon
2) X at X Xnp 22

2aK) 1 KD — 20 192°OR — 0°7AVT 1A 1AM RNIYT MYOR M MR
(7 223 R? 02W9) — D0 HYT XA 199K P — (7293 KD
Y2 77213 1797 ORT MYOR " IPVAWKI SPMOR WYY 11°P0Y 2RP2 R

phiala Rl

3) mooin
a) Nwp

i) 77807 the X1pon in &np R22 is that although there is »ax from nmph of o°72y
P MR Xwyw there is no ax of a>7ay from oo

i) Why does the &3 in our X0 say the reverse for 1o 5y m>n — namely that
there is "»>ax from w1y but not from mmp>

b) 1w of the y11°n of Mmoo near the end of the 1127
i) OPPNIDdRIRWYW 130 KOX ... MY Y27 O1va IR
4) R"waan — R0 or the yyen of maoin

a) mooin reads the x7mx as if it said "&5&" before 13°poy *&na *oi to reverse the prior
understanding that there is no "»2x from om0

22K) P11 RD — 7007 129DR — DOT72VA 1) 120 RN MYOR R
RN ROMT[RPR] — DHDD DYT R 100K P11 — (721 XD 2NN
729 W IR] 1101 ORT MYIR T I1PYAWRY PPMOR IRV J10P0Y

[WA°7 72 W P12 2] nan 1230 Hya

PTNIND 'INT DIYN T'NA

WA 1D MIMIPDT R'0Y 11D RAPY M7 IN2IND2 KON 10 PITIAD 1T 2 7''Ra
PIMIAS N RD P72 TADT D' B''xs B'op "o BRAWT ONMS RN XNMN2b
5 mY RDP 1799 NINT R2PYD ROIVWD WIOT 2INDD N7 ROR PUIRRM)

N2''T 2AN'T 2" TN

'7":57 "\a mmpbn 72 7233 19N 518y 19 IRA 1922 72 29 Yo RI997 ansT a''7a
P17 RO JIOROR DRI 207 R2WRT ORI IR TR IWORT M BN

Ayp qT

N2 0T NIvoIn

WHDH W 1D 7213 ORY 11D T P RO I 9152 N0 1 1A 11T [N 7MY R 0T
DR "2 1 72 DY YD RDN AR KD X5 297
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N7 w1On Xnaal 1N NIvoin

YT IR RO 1D AN RNVMIRT IND RTIApR 7R X277 70 whDn XA 7''N2
2NTY RNMMIRT IND RTIEAPR 7''7% A8 W7 DS MDSINT R0 »''0D ROTT Mk
IR K27 110073 PRATRT P52 NIDOINT 12N 717 DY 11 RAMINT XTI 7' R

TH''RY RO RNMMINT IRD RTIAVWT MIMIPST 772 720

1) X
MIMPY 72 7203191 WO 12 720 779 DY 191 RND9T 8D 27 R
N9 MMPT 17 7213 1°R) 119 7192 19T PN ROV 272 PwAYH 1A 72
Nop o
2) mooin

a) Xod 27 says his 177 both for the Xn*>"IRT R72y°w MR 87 and for the KT X7
RNMTIRT IRD X729°Ww — because presumably Xo5 27 means

17 5192 NDT 2WIN ROW 573 [RNMIIRT IR? °R 192°0KR] PWIPT 12 720
XOP % M97 [RNTINT R 12°0R] MIMIPDI 12 7213 1K)

1) Xwp —this isn’t consistent with the X2 in Pw17P Ndon that says

IR 1999 HY AR RNPNIRT RTIAWVWT DIWR PWIT 12 7233 70 DY
X2 % n°97 DWwn MIMPI I 720

b) y17°n — x99 27 said only MMIPLa 17 7233 10K PRI A 723 — our XInax explains this
for the anrT 187 that Xn»x7 W5 R723°w while the X3 in pwrp explains this for
the 22K7 X7 that Xn»IRT XTIV

3) X"wann
a) Nwp

i) We established that n»oin says that x99 21 applies his 17 whether or not
RNPIIRT K720

b) v n
i) moownin PwrTp is 07 that 895 27 here says
MIMPYT 72 7213 19K) WA I 7203 779 DY 191 RNOYA XD 27 R

217 MIMIPYT 17 7213 1°R) 112 2192 12T 2N ROW 272 PwIT 0 A0
RNMIRT XD RT7I2YWT

i) The y17°n of mooin here applies to the xo7x of mson in YR NdON

N2A'ND Nywn n" TN

»''52 NIBOINI PP H'ED 15 0WNPR 5T 15 A'MHY TWDI TAVW 739N nYywn 1"
TWIAT
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n"an n"T1n
D0 Doy "0 IMITT YRR CINWT "o MmN AT T2

INM>d D701 2" TN

B'DT MWBNR BN A N "2 BRYARS ' hY 202 KPT "D I v "'
TaUWNT P2 K17 ROR 011 327 790 290D KD DRpARS M7 R B0y "o BUNwe
DaR OWDI TAVWRT RMAYVRA P2 R ' P97 927 K27 MAKRD 790 1201 ' 1wl
BRYAWY 279 5799 NORT AR MY INTIT TINT URYRWS ' 7™ ang ' ARTIR
RRNIT P952 2w NIDOIN2 2027 29INI2R IO AT MY M N207D RIUwT NnveN
12 RDYDT MWD T2 INRY 1D B'OT WHNR 779013 9" MDD IND AT R vy

TH'"™Y AR NIDDINGT IR R ONIR B''op

1) First nnipn

a) “xynw» ' holds that an "nvw ownon ANk R¥1 279" is 20 even though the 27y
wrote "2y *ax1" only after the nn>nn of the o>7v and after myn 1n»

b) jam ' assumes that the v w of Hxynw " is based on X w7 XN°n RAHR even
without a 7n°nn

c) “xynw» ' also holds that 2°°m 7% IR %IRY 19 73717 VAR 127 IREM PIW2 TR DR P
— because an 2v is "wo1 72ywn to be 17an xn

d) in both cases jam1° "1 holds that the 7057 is Pxynaw» "5 even though 01132 is P21 on
ORYAY "

2) Second 7n7p7 — X3 iN XYY RS M2IND

a) from the 17 of HXRyPw> ' on MAVY DIN°R AR R¥T 27 as understood by e - "
11y derives that

MM RDT 23 5V AR 27 0°72 17 70 0W2 731 77 CIR 200 D K
M7V ONR 172 WART IRNIT 77X ARTIID U7 ROWWT RN9M RAHNT
mT

3) Third 7P
a) The concept of "wo1 7avwn doesn’t apply to IR

b) The concept of X vwT xn?>n &1°H& obviously doesn’t apply to the case of pin
where there is no qww

4) mooin here as explained by X"wann based on mooin in XKW P
a) Nwp

i) Maybe — contrary to the understanding of jam ' — Hxynw» ' says that 27
MY 2IN° IR ®X1T IS 271 only because the 29 is “wo1 7avwn — the same as
for puan where there is no aww and it must be that the avn is derived from
W1 7AYWn
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ii) After all even "1 111 '3 says Pn2 ax 1 15 73597 where there is no qvw and
the reason must be because w1 72aywn

iii) So how is there is a “&2 to 11 "1 from Sxynw» ' that X w7 Xn?7n ®PHR with
the result that 7> *1x 21 without a 72°nr7 is valid as a 877

5) Twnn of X"wann

a) In the place of the X0 in mvoIN that AR HXRYAW ' P1977 827 MKRP 91 137 N
"
rahig!

b) %"wnmn is 7o the following words
TV 17 737 PR 17 MRWD 2"'0T WK DM AN N

6) Twnn of X"wnn — The 77mn of 2"wHnn isn’t consistent with the 797 of Moo in Pd
XU

NN'n 1T"N2 nivoin
51T 1D TaUWAY A TR 21 ANY 70T RIVRT RADA TR

Ak k

VWD VA oV T
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